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Question Number : 1 Question Id : 8135612561 Display Question Number : Yes Is Question
Mandatory : No

One of the following scientists was the earliest to attempt more scientific basis for
classification

S06 DE.0) TBS" wHE FoaorT 5850t o 20csk) HOS) 0 BN THSY AW

Options :
Linnasus

Eé‘lq‘.&ﬁa

Theophrastus
BAT TR

Aristotle
e:ﬁg“efiﬁ

Whittaker

De3eé

Question Number : 2 Question Id : 8135612562 Display Question Number : Yes Is Question
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Mandatory : No

Salient features like Embriophytic Tracheophytic. Cryptogams refers to

Dol D Bakuk), TS SrarYrw sgomomu Joth A09[ VLD (L) 2)edyeesd
ster

Options :
Angiosperms

| % S Dawew

Gymnosperms
, x DD Dazen

Pteridophytes

Brvophvtes

) BODE,

Question Number : 3 Question Id : 8135612563 Display Question Number : Yes Is Question

Mandatory : No

Archaebacteria difter from eubacteria in
€38) eS80, aRrerSBaird So8 TUS” DBBotR?

Options :
cell membrane structure
_— e B :}U“é’ﬁn

mode of nutrition

5w 2 Jordo
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cell shape

3 x S0 &5°0o

mode of reproduction

4 DBNS Do

Question Number : 4 Question Id : 8135612564 Display Question Number : Yes Is Question

Mandatory : No
Bacteria are grouped under four categories based on their shape. Study the given figure and

identify A. B. C and D?

U5TR) w@ es“éﬂcmo DR 4 65T DFRem. A Do ednbed A, B.C.D ud
ﬁ)@orﬁod‘?

Options :
A — Vibrio, B —Cocci. C—Bacili. D —Spurilla
. x A-dQowr. B-§%. C-edg. D-\0

A —Bacilli,., B-Spmilla. C€—Vibrio. D — Cocci
A-erdg. B-py0y. C-dQar. D-§%

2. %
A — Coccl B —Bacilli. C-—Spinlla. D - Vibrio
A-§s B-erng. C-2y0e. D-IQdar
3.¥ e
4, %
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A —Spirilla, B — Vibrio, C — Coccl. D — Bacilli
A-8g. B-dYar. C-58 D — erg

Question Number : 5 Question Id : 8135612565 Display Question Number : Yes Is Question
Mandatory : No

Select the mismatched pan?
$08 TS HBAD S IO DA?

Options :
F.W. Went — Auxin
F.W. Dobd — Eé,}&

Buchner — Zymase

eS) 6 — BB

H. G. Korana — C, pathway

H. G. d'ooor — €, 07060
3.v f

Frankel Conrat — RNA
4w FroseS E785 — RNA

Question Number : 6 Question Id : 8135612566 Display Question Number : Yes Is Question

Mandatory : No

In cucumber the ovary is
B%e5° evoroddo

Options :
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Absent
Gotic

Epigynous
5 906 S H0S0

Hypogynous
9068 SSo

Pernigynous

. ‘SJU“;SGC.‘.E’%G

Question Number : 7 Question Id : 8135612567 Display Question Number : Yes Is Question
Mandatory : No

Idennfy the parts labeled 1,2, 3, 4 1 the figure Caryopsts of Oryza?

506° saudado Ogeds” 1,2,3,4 errrody Miotiel?

Options:
1l —endosperm. 2 —scutellum. 3 — embryo. 4 — pericarp
, | — 0806 Go. 2 — ) o, 3 — otio. 4 — Dersdho
1 —pericarp. 2 —embryo. 3 —scutellum. 4 —endosperm
| —Dosdte. 2 —dotio. 3-A7) 800, 4 - wobGo
2. % -
3.¢
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Il —scutellum. 2 —endospermi. 3 — pericarp. 4 — embrvo
1 — ﬁﬁbﬂgn. Z— EDS}dtﬁt}Cﬁo. 3 —DsSo. 4 — Dole

1 — embryo. 2 — pericarp. 3 —endosperm. 4 — scutellum

1 — otio. 2 —DsStho. 3= Eu&ﬁﬁ(}do. 4 — T oo
4, % § =

Question Number : 8 Question Id : 8135612568 Display Question Number : Yes Is Question
Mandatory : No

(1) When carpels are free. they are called “A”

(11) When the carpels fused. they are called ‘B’
Here. A and B refers to

(1) DAY DT G0l TP “A’ 90btT0)
(i1) DO LD DotiwSorT &otl T8 ‘B’ e90trdd
DeS® “A” HBoio ‘BT e Ardotd)

Options :

A —syncarpous. B —apocarpous
A —DoinSoe. B - doainsSe

A —apocarpous. B — syncarpous
A —e9Do0iSe. B —RotisSo

A — monocarpous. B — mullticarpous
3 x S 28 DudwoINde. B — 0 DGl
A — mullticarpous, B — monocarpous

4 A — o Doducindgoe. B — D€ dHuduaiudo
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Question Number : 9 Question Id : 8135612569 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Zygote 1s the link between two generations

Reason (R): Zygote is the product of two gametes and producer of next generation

NRydo (A): Ro0k0g Dao Totd STVE) T6H Do
5630 (R): Wo00g Daso Gockd NodIrd D2Pw SUONS HUN &S BOVNG Bk
SETS ST GdE Bred

Options :

Both A and R are correct and R 1s the correct explanation for A

| A S8 R e Gotr 20D 8030 R 938 A S 20D D50

Both A and R are correct and R is not correct explanation for A
A 08030 R 20 Gottr 0D 57 R 936 A § 20 2566 5°e

A 15 correct but R is wrong
A B0/ 572 R 2057

A 15 wrong but R 1s correct

) » A 0BT 5D R 0330

Question Number : 10 Question Id : 8135612570 Display Question Number : Yes Is Question
Mandatory : No
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Out of the seven names given below. find out haploid cells?
(1) Antipodal cell
(1) Eggcell
(1)  Swvnergid cell
(1v)  Polar nucle:
(v) Male gamete
(vi)  Nuclear cell

(vi1) Chalazal cell
& Sod Déiothes” 35%}65 Srre) Swdoc?
(1) HHI S S0
(i) = Daswo
(111) AP0 Seae
(Iv) &y SedSo
(v) i Dodrd Daze
(Vi) Sogds Seeo

(vil) derar Steo

Options:

(i), (ii), (iv) & (v) only
|« (@, (D), (iv) & (v) g

(ii), (iv), (vi) & (wvii) only
S o (@), (), (vi) & (vii) S78>

(i), (i), (iii) & (v) only
L o @), (), (i) & (v) g

(ii), (iv), (i) & (i) only
4w (1), (), (i) & (1) Sorgao
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Question Number : 11 Question Id : 8135612571 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

AP EAPCET 2021

Column -1

Column - I

Column - 11T

(a) Epidermis

(1) Multi nucleated

(p) Protection

(b) Endothecium

(1) Homogenous

(q) Formation of Micropores

(¢) Tapetam (111) One celled thick (r) dehiscence of anther
(d) Sporogenous tissue (1v) Fibrous thickness (s) Nourishment
208 TR BBNGSE]
560 - I S8 - 11 Sdw - I
(a) erir6)o (1) exmBogisoing (p) 0%m
() Dofdato (i) pErdab @) gy 0 Dare D6
(c) &30 (i) D8 & Dot (1) et 40 Ty
(d) %6 Do aids smarvoe | (iv) dodoimdavomey | (5) Jaw

Options :
1% (a—i—q), (b—iii—r), (ec—iv—q), (d—i—s)

5, ¢ a—iii—p), (b—iv—r), (c—i—s), (d—ii—q)

5« (a—i—s), (b=ii—r), (e—iii—q), (d—iv—p)

4 % (a—iv—r), (b=i—s), (c—ii—q), (d—iii—p)

Question Number : 12 Question Id : 8135612572 Display Question Number : Yes Is Question
Mandatory : No
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Engler and Prant] published a phvlogenetic system in the monograph

Doff6 B0Bak Fobd 56 D5 B3R Voroodd 6DeDA ArSTd

Options:

Die Naturlichen Planzentamilien
| o © DSBS Froad HAWBALD

Families of flowering plants

FDDD 6D H3BoA Frotsy
2. % [ (o]

Species Plantarum

EJJEJF_:I otTdo
3. % -

Genera Plantarum

4 % sho é"o&:"én

Question Number : 13 Question Id : 8135612573 Display Question Number : Yes Is Question
Mandatory : No

"G stage of the cell cycle 1s charactenized by
g63 D95085° ‘G, 6% @DaHLBAILAE

Options :
Division

_— DT

Metabolically mactive
5 % BH50he HPolT SaiTrdaardolT™ Gotts

3.¢¥
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Metabolically active
B350 DT éu‘.ﬁra&ﬁorr EotHmd

Proliferation
4 % 2O

Question Number : 14 Question Id : 8135612574 Display Question Number : Yes Is Question
Mandatory : No

Identify the labelled parts as 1,2, 3, 4,5 i the below Sectional view of chloroplast?

Sod 'a;bsuda‘) poilols ol blu)) mnéﬁ‘lméeaoﬁ“ 1,2,3,4,5 ermred dbodoed.”

Options:

1 —Stroma. 2 — Granum. 3 — Stroma Lamellae. 4 — Inner membrane. 5 — Outer membrane
1 —es588, 2-mrar.  3—e3908 Hodden, 4 —eostt asr:')o. 5— mﬂb':g @Sﬂ.‘)o
® & = %

1 — Stroma Lamellae. 2 — Granum. 3 — Inner membrane. 4 — Stroma. 5 — Outer membrane
1 —e3508 H0dsew, 2. 3 - eeddd 9:’95::50. 4-es50s. 5 wﬁ“}s @Sﬁ.’)ﬂ
o & ]

1 — Stroma Lamellae. 2 - Stroma. 3 — Granum. 4 — Quter membrane. 5 — Inner membrane

| —es308 Hdgen, 2588, I-re. 4- EJ":J“TS e‘.’#&t‘.&o. 5 — 9030 ésr:'m
3. % ] =]
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1 — Granum. 2 — Stroma. 3 — Quter membrane. 4 — nner membrane. 5 — Stroma Lamellas
l-mrar, 2-0308 3-wripodg@e.  4-wod0 oo, - ©38s Hedgen
W =] =]

Question Number : 15 Question Id : 8135612575 Display Question Number : Yes Is Question
Mandatory : No

Below features mdicates which phase of mitosis?
(1) Chromosomes cluster at opposite spindle poles and their identity 1s lost as diserete elements
(1) Nuclear envelop assembles around the chromosome clusters

(1) Nucleolus. Golgi complex and ER reform

408 vEETY PRI’ § B30 adabdatudy’
(i) Eardov dduriro dubraedy E6'\om gy 36 B0t
(i) Eardon Hiuriro dhr Sods to 266
(1ii) Sogisodo, TT“Q ‘rboéi’go, P.'Joejg;ﬁ Q:)]S &P @éﬂlﬁéﬂmbdo

Options :

Anaphase
| % DODEE

Telophase

5 @ 6065 (nl]

Cytokinesis
Seady BEAESEY

s-phase
S-G9
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Question Number : 16 Question Id : 8135612576 Display Question Number : Yes Is Question
Mandatory : No

Peptide synthesis inside a cell takes place in
Sea0e5” Z}E:ﬁ DoFNE 2O DBFo

Options :
Chloroplast

|y TBSED

Mitochondria
D05 arecoir

Chromoplast
5680

Ribosomes

Qﬂsﬁﬁﬁ oL

Question Number : 17 Question Id : 8135612577 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Mitosis is often called indirect division

Reason (R): Mitosis divides a parent cell into two daughter cells

Qydo (A): P DFadd DEL D © Lotrdd
s*6r30 (R): 20 Dasad Do 88 smo ot 2 Y Seen D6 ETrow

Options :
Both A and R are correct and R 1s the correct explanation for A

| % A 20dain R e Gotr 200 08030 R 998 A S 285 DH0¢e0
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Both A and R are correct and R is not correct explanation for A

, » A 20803 R e Sodr 20D 5 R 0928 A § 20 DdHes s57¢0

A is correct but R 1s wrong
3 % A DTS =7 R 205

A 1s wrong but R is correct

4 % A D05 572 R 2GS

Question Number : 18 Question Id : 8135612578 Display Question Number : Yes Is Question
Mandatory : No

Phloem parenchyma is absent in
TOE Seere 060 S O8

Options :

Dicot stem
BT D SPotio
1. %

Dicot leat
L . Oy D Hebo

Monocot stem

3 @ De ¢ D2 sPocio

Dicoft root
4 % 98 OF Dy DO

Question Number : 19 Question Id : 8135612579 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?

Vascular bundles Arrangement Plants
(a) Open (1) Dafferent radial (p) Leaves
(b) Closed (1) Same radial (q) Dicots
(¢) Radial (1) Cambinm present (r) Monocots
(d) Conjomnt (1v) Cambium absent (s) Root
Sofd TR RHGHC]
TS oD 092008 Q8 00
(a) Dadydo (i) S8 FF% B (p) Do
(b) Rodydo (ii) 8 ogg dwp (@) By Daren
(¢) :.1"5&2-: (ili) deray Smervo Gothdd (1) 2% ¥ Daren
(d) ocdwso (1v) ﬁwaé S0EPLI0 S0t (s) D
Options :

1 % (a—iv—p), (b—ii—1r), (c—iii—q), (d—i—s)

5> & (a—ili—gq), (b—iv—r), (c—1—s), (d—ii—p)

3 % (a—i—p), (b—ii—q), (c—iii—r), (d—iv—s)

4 % (a—ii—r), (b—i-p) (c—iv—s), (d—ili—q)

Question Number : 20 Question Id : 8135612580 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 1s correct?
o8 7S VB e VA7
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Options:

The collenchyma occurs in layers below the epidermis m monocotyledonous plants
, s Dereds” erirst)o 6D Wy Tdew 'rgrufm 020N Dot

Sclerenchyma cells are usually dead and without protoplasts
L O gnerwod” Srrun Frrdeert DBSo Jobain #3 DTG0 GG

Xylem parenchyma cells are living and thin walled and their cell walls are made up of lignin

T A8 P00t srren PEARD Sobay Heus? Feerd 28y 8A) S sdateciy
3. %

The companion cells are specialized sclerenchymatous cells

. A" SEreD B0 DE[SIVD GG SETeD

Question Number : 21 Question Id : 8135612581 Display Question Number : Yes Is Question
Mandatory : No

Select the correet combination?
(1)  Fruit wall of nuts
(11) Pulp of fruit like guava and pear
(111) Seed coat of legumes

(1v) Micropyle of pea
2DBILD SVOVEVR DotE ol ?
(1) Do e Dere DUSIo
(11) 2@ bain Hohs DHere rbg
(1i1) ej‘ri:fﬂéf:n DSTO SSPo
(iv) e&rd) o30S), ®olk &gbo

Options:

1. %
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All except (i)
(i) B2 0Dy %0

All except (ii)
5 % (ii) &0y 90y i

All except (iii)
o (i) 32y ) e

All except (iv)
4 (iv) 9Dy ) oo

Question Number : 22 Question Id : 8135612582 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): A primary succession is more common than secondary succession

Reason (R): Biogeochemical cycling is absent in secondary succession

NFydo (A): BLACH BREAe Sotl FEE VRSN NG TFEROT &0t
560 (R): BBaD 805:2006" 4. #P. 60D Jwaire Got

Options :

Both A and R are correct and R 1s the correct explanation for A
A SH0Bain R e Gotr DA <8030 R 936 A 8 20D D506

Both A and R are correct and R is not correct explanation for A
A Jobaiw R e Godr 200D 570 R @998 A S R0 DH080 57

A is correct but R 1s wrong
A 9058 529 R 285°¢9
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Both A and R are not corract
4 A 0803w R e Godr 0D 5°)

Question Number : 23 Question Id : 8135612583 Display Question Number : Yes Is Question
Mandatory : No

Select the mismatched pair?
BAD DB T78S” DOV 28 TIG?

Options :
Ephemeral — Opuntia

e&u_}s“ﬂs“m — 20Dair
1.¥ R

Succulent — Asparagus

SRZOSLD 2nG) e — &R ol P0]
2. ® = J

Non-Succulent — Casunarina

GRZ50¢h0 5° QS e — STOT
3. % =

Halophyte — Rluzophora
&) dwe) e — 8& Foe

Question Number : 24 Question Id : 8135612584 Display Question Number : Yes Is Question
Mandatory : No

A competitive mlubitor of succinic dehydrogenase 1s
288 CrEadE dwg), I HE JoFd B GLo

Options :

1.4
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Malonate
20657565

Malate
5w ST

Pvruvate
DD

@ — ketoglutarate
4w @ — SEHLTES

Question Number : 25 Question Id : 8135612585 Display Question Number : Yes Is Question
Mandatory : No

Identify the comrect sequence of stages of Calvin cycle?

(D S0’ GO VOB SWR SA00s” HBoDA?

Options :
Reduction — Carboxylation — Regeneration

- SoDSde — E“U“aéﬁejuﬁ = DS D

Carboxylation — Regeneration — Reduction
. ST)STRR — DIDSE  — LaDsoe

Carboxylation — Reduction — Regeneration

3 @ Waéf)ﬁm.E — goisden — f-}jﬁﬁdﬁ@ﬁ@

Reduction — Regeneration — Carboxylation
4 % £0080e3 = DIDLSE — E"E"aégﬁ‘éqﬁ
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Question Number : 26 Question Id : 8135612586 Display Question Number : Yes Is Question
Mandatory : No

Three major ways in which different cells handle pyruvic acid are as follows. except

dod T¢5" ase) 80y ADH %) 3 m’gﬂmﬁﬁ DOrDS 008 B0[ 2P’
Options:

Lactic acid fermentation
eSS &30 SeaSoDd

Photorespiration

S0 ?Sﬁaéom
2. ¥

Aerobic respiration
3 % TPO3D Db ?5;;50:&:

Alecoholic fermentation

€50 2355 Sea(DEAD

Question Number : 27 Question Id : 8135612587 Display Question Number : Yes Is Question
Mandatory : No
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Photosystem-|
Fod AR
o

[dentfy the labeled parts as 1,2, 3,4 Light
in cyclic photophosphorylation? 5°08)

80D 508 FT\BGUD S dowoBodd

D008° 1,2, 3,4 erlo 0 foBotdod]

Options :
1—(ETS), 2— (e acceptor), 3—(P—700), 4— (ADP+ ip)
1 - (oS s bﬁé‘fg}. 2— (U5 ?assg). 3—(P—700). 4— (ADP + ip)

1-(P-700), 2—(ADP+ip), 3—(ETS), 4— (e acceptor)
1- (P—700). 2 (ADP+ip). 3 - (UED 675 30). 4 — (TS EY)

1— (e” acceptor), 2-—(ETS), 3 - (ADP+ip), 4— (P—700)

5 o .
v 1- (dogd 258d). 2- (Jogd 6w 355%). 3 - (ADP +ip). 4- (P—700)

1-(ADP +ip), 2—(P—-700), 3 —(e” acceptor), 4— (ETS)
1- (ADP+ip). 2—(P—700). 3— (QUER f‘osSQ). 4— (TR 8T (D)

Question Number : 28 Question Id : 8135612588 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Match the following?

Column -1 Column - II Column - ITI
(a) Francis Darwin | (1)  Coconut milk (p) Auxin
(b) F.W. Went (i) Rice seedling (q) Phototropism
(¢) E. Kurosawa (iif) Coleoptiles of canary grass (r) Kinetin
(d) F. Skoog (iv) Oats seedlings (s) Gibberellic acid
S8 TN BIHGBC”
3600 - 1 Sdow - 11 3do - I
(1) 0 ETBR (i) Eepd ew () e$®
(b) E.W. Dot (i) SO (q) S0l Seral
(¢) E &6z (if) 596 16 38 Frosd Sorbosen | (1) FHOI
(d) E.2mf (iv) &5y e Anog) e (s) amaﬂgé e300
Options :

1@ (a—ili—q),(b—iv—p),(c—ii—s),(d—i—r)
> % (a—iv—p),(b—iii—r),(c—i—q),(d—ii—s)
3 % (a—ii—s),(b—i—q),(c—ili—p),(d—iv—1r)

4 % (a—i—r),(b—ii—s),(c—iv—p),(d—iii—q)

Question Number : 29 Question Id : 8135612589 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is incorrectly matched?
& 308 TES” 1TD ad 5708 A7
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Options:
Explant —— Excised plant part used for callus formation
&)E;ﬁr’oﬁ — SO bdhduﬂﬁé &0 o AW, o

Cytokinin — Root mitiation in callus

- DBID —— SO Aot) S VYo

Somatic embryo — Embryo produced from a vegetative cell
TS Dode  — TSAWEL0 Aol DGYED Dodo

Anther cullure — Haploid plants
DoEE S60e — DERAS AWE) e

Question Number : 30 Question Id : 8135612590 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Match the following?

Column - I Column - II Column - ITT
(a) Joseph Priestly (1) Glucose production (p) Photosynthesis
(b) Julus Von Sachs (1) Role of sun light (q) Plants restore air
(¢) Jan Ingenhousz (111) Role of air (r) Green parts of plants
(d) T. W. Engelmann (1v) Action of spectrum (s) Release of 0,

Sod T DGR ]
SR -1 SIVARSI| St - 1T

(2) &2 ;‘;ig (1) gpv%“ﬁ &3 (p) édmaé}g Rodird $0%

(b) rBadd D8y | (i) kwroed g | (@ 20080 T B8 JT0N)

(c) &R @RI TE (iil) ™8 >y (1) g6 DN ermren

(@) T.W.Qof® e | (1v) &0 6 Do (s) 0, s

Options :

1« (a—i=s)(b—iv—gq),(c—iii—r),(d—ii—p)

5 % (a—iv—r),(b—iii—s),(c—ii—p),(d—i—gq)

3. x (a—ii—p)(b—i—gq),(c—iv—r), (d—ii—s)

4« Ca—iii=—g),(b—i—r),(e—H—35),(d—iv—p)

Question Number : 31 Question Id : 8135612591 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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T. O. Diener (1971) discovered a new mnfectious agent that was smaller than viruses. Consider the
following statements about this infectious agent.

(1) It causes potato spindle tuber disease

(ii) These are infections RNA particles

(11) Itlacks the protein coat

(iv) The molecular weight of its RNA 1s low

The above statenients are assigned fo

D0 Sot D) T &) 8 Frogs SUs VR T. 0. GA6 ST . & Fogeds T°65™0
10808 S0 HELIO H8Dotded.

(i) =0 TPl 9yold er(b T3 seurfEiined

(if) @2 Fogad$ RNA Geaden

(iti) w6 JBS s5mD) $8A Gocddy

(iv) &3 akog), RNA emerde 85,3
D H3den B3 Seronediucn)]

Options:
Viruses
20D

Viroids

:JU“DJJCE:I
2.¢ =

Prions

3 % b{ﬁ}“53

Lichens
g8 B

Question Number : 32 Question Id : 8135612592 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Viroid's differ from viruses in
DTCONELD POJL Aot B DEBBotiA?

Options :

Satellite RNA packaged with viral genome
DOS 2A0PHOS J§ SoDedd THTES RNA

Naked DNA molecules
R DNA ese0d)e0

Naked RNA molecules only

3 ¢ Sy RNA esrpe0 Sgao

Naked DNA packaged with viral genome

n D6S 2RpOE IS Sabadd ¢y DNA

Question Number : 33 Question Id : 8135612593 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The proportion of parental gene combinations was much lighter than non-parental type

Reason (R): Gene combination 1s due to linkage of the two genes

Adydo (A): LTS’ 2V Swows 0T do 29860 ARO[V S0l BAST ot
5°0to (R): a,a)lg;»_)v SVONSL) TG0 Bot) am]g;b_jv pru) 8

Options :
A is correct but R is wrong
A 20 570 R 2d57cD

A 1s wrong but R is correct
A D857 57 R 20D
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Both A and R are correct and R 1s not correct explanation for A

3 % A S08ain R e Godsr 20D 570 R @938 A § 20 DDH0e 57

Both A and R are correct and R 1s the correct explanation for A
4 v A 200ciw R en Godr R0 08030 R 0938 A S 20 D560

Question Number : 34 Question Id : 8135612594 Display Question Number : Yes Is Question
Mandatory : No

RNA polymerase III transcribes 3 of the following except
RNA 02068 III &0 25 1) TS wst B2y HDRH 2ot Voo’

Options :
1 » tRNA

5 % 281 RNA

3« hn RNA

4. % Sn RNA

Question Number : 35 Question Id : 8135612595 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column I Column II
(a) George Gamow (1)  Synthesis of RNA
(b) Har Gobind Khorana (i) Polynucleotide Phosphorylase
(¢) Marshall Nirenberg (1) Code is made up of 3 nucleotides
(d) Severo Ochoa (tv) Cell free system for protein synthesis
208 TA 2BDGHE”
S0 -1 SR - 1T
(a) &8 mara (1) RNA Qo

b) soBdbHor | (i) FDArEares F>\06s

(c) 2G5 Addwd (i) 3 ArairSed’ SE dairdiwm

(d) 28 283 (iv) YOS oo 6ird S0

Options:
1 = (a—i),(b—iii),(e—ii),(d—iv)

, % (a—ii),(b—iv),(e—iii),(d—1i)
3 v (a—iii), (b—1i),(e—iv),(d —ii)

4 x (a—iv),(b—ii),(e—i),(d—iii)

Question Number : 36 Question Id : 8135612596 Display Question Number : Yes Is Question
Mandatory : No

r-DNA mserted with in coding sequence results m the process

r-DNA & 285 0088 208" Fhyoticio S0 2666
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Options:
Gene activation

- 2R éuﬁr@&h S0

Chimeric DNA
55088 DNA

Recognition sequence
(8ot (T ST

Insertional inactivation

4w RONGDS @5%3‘3515

Question Number : 37 Question Id : 8135612597 Display Question Number : Yes Is Question
Mandatory : No

Identify the labeled parts 1, 2, 3,4 mn the given figure?
S08 DL’ 1,2, 3,4 ermrery Mdotdoc.?

(d)

Options:
(a) — Largest. (b) — Smallest. (c) — DNA Bands. (d) — Wells

- (a) 088D, (b) -o3D9d. (c) -DNAwdew. (d) -erdHew
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(a) — DNA Bands. (b) — Largest, (c) — Wells. (d) — Smallest

5 % (a) -DNA e, (b) —e82gd. (o) —erpev. (d) — 8Dy D

(a) — Wells. (b) — Smallest. (¢) — Largest. (d) — DNA Bands
- (a) —erdpen. (b) —eddD.  (c) - w@bgﬂ. (d) -DNA méw

(a) — Smallest. (b) — DNA Bands. (c) —Largest. (d) — Wells
y v (a) —0a3d)d.  (b) -DNA m%m. (c) — o353,  (d) —erpew

Question Number : 38 Question Id : 8135612598 Display Question Number : Yes Is Question
Mandatory : No

' 1 Clal Hind 11l

The given figure is the diagrammatic
representation of the E. Coli vector pBR322.
Which one of the given options correctly

idenfifies its certain components?

Sal |

B0\ Do (Bar Do) Q. §T Tirgo Lo
pBR322 rﬂ)g":)l SV ALV

Pvu i
Options:
|« 1—EcoR], 2 —BamH1, 3 — Ori, 4 — amp®
, % 1—amp®,  2-—0r 3 —Bam H1, 4 —EcoRI

- R

3 % 1—0ri, 2—BamH1l, 3 —EcoR], 4 —amp
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4 % 1—BamH1, 2—EcoR], 3 — ampF, 4 — Ori

Question Number : 39 Question Id : 8135612599 Display Question Number : Yes Is Question
Mandatory : No

The entire collection of plants having diverse alleles for all genes

W8 Adr 'r'o'r‘o'goeﬁ“ 206 05w asorf] RDETV8) Dotlodol)d ) AU
0t
Options :

Gene pool
ee.mﬁ RS Pubblndewble]

Germplasm collection

D DTG HEGM
2 ®

Pure lines hivbrids
%Jg 0T S RoSTTLD

Cultivar crop

4 % Dodotd Dok) dsTen

Question Number : 40 Question Id : 8135612600 Display Question Number : Yes Is Question
Mandatory : No
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Organism

Product

(a) Asperzillus Niger

(1)  Ethanol

(b) Acetobacter

(1) Butyric acid

(c) Saccharomyces

(11) Acetic acid

(d) Lactobacillus

(1v) Citric acid

(vi Lactic acid

So® TR &BHGDe6?

Options :

Laden

t"—..‘.éhz‘\'Jle

(a) e300 26

(1) TS

(b) e ergh

(i1) msﬁ&é &5:00

(c) TR0

(111) JNEIS 20

(d) erEerdyd

(iv) DS w00

(V) E‘F§,§ &30

% (a—ii),(b—iii),(c—v),(d—iv)

5 @ (a—iv),(b—iii),(e—1),(d—v)

3 % (a—i),(b—ii),(c—iv),(d —iii)

4. % (a—iii),(b—v),(c—ii),(d—i)

Zoology
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Section Id : 81356156
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135612601 Display Question Number : Yes Is Question

Mandatory : No

If the student wants to study the development of zygote. internal structure and function of
various pairs to assign the orgamism to a particular phylum, the student takes the help of

tollowing branches?

28 Dc;rag Rooing Dao webbag, :Jgﬁg ::E"?;’Jé Bodd o ¢ B30T ©000) U7 820,
T8 DG oD BorVRVLDY) YR ) EITR TPV RFaio GRWLRD?

Options :

Developmental Biology. Anatomy. Physiology and Taxonomy

DDA BITRAW, 8030 U7 LTI, %66:;561}’?;3;31: 200030 HOLEET AN
1 . W,;? (A L= o L d n L]

Embryology. External Morphology. Physiology and Taxonomy
DoE A BTRAD, ©odd) 07 HTREW, 306EE)TRAN Bok HBsdrT YA

Embrvology. Anatomy. Osteology and Physiology
hofvj:}@?‘:oan, ©oB0) U7 T2, DT RS Hodadn é&dﬁd&?ﬁ:m
= = = P <= =

Embryology. Histology. Physiology and Taxonomy
20l S\ GTRAW, SERPOTRAD, F06GC)TRAD, BN SPSCTRAN
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Question Number : 42 Question Id : 8135612602 Display Question Number : Yes Is Question
Mandatory : No
ICZN is

ICZN eosomr

Options :
International centre of Zoological Nomenclature
fa?oe.ﬁ:l‘?’q&‘:e.'i Dotid 3D RDUTTRSY TDSWO

International code of Zygote Nomenclature
RotI0) QDO & ©d 3 TTDATLIO

International code of Zoological Nomenclature
Q0T 205 E& 4D derass 00T

International centre of Zygote Nomenclature
ROLT) DRDS Votd D FTe) TIFwWO

Question Number : 43 Question Id : 8135612603 Display Question Number : Yes Is Question
Mandatory : No

In Deuterostomia embryonic blastopore produces
C‘.Jsﬁﬁb gnﬁ)ﬁb“ Do) I SoGo BT DI EINBe@IA?

Options :
Anus
| @ TOIPD

Mouth
2. % Sﬂ)
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(onopore

. . ST

Coecyx
4 % e9AVLSo

Question Number : 44 Question Id : 8135612604 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct option from the following statements?
1) Albumin is the smallest and the most abundant serum protein which 1s responsible for
colloidal esmotic pressure
i) Blood is red colored. translucent and shightly acidic fluid
11) Plasma constitutes 45% of human blood
1v) Gamma globules are the anfibodies. also called immunoglobulins

v) Fall in the level of albumin in blood plasma results in cedema

& hﬁ"batl VLAY Nod POELNH TA MDBo)S?
1) el e O3) 2o TS OSBEIVT God, 653 Egranded dordioen
DETIS TERIBD
il) S0 G &ol. wg ﬂ“dcﬁd;ﬁm)n“ BablalarbV i’\}SUJmJT‘I" &350 U\iﬂ“.ﬁl $9A &otwod
ii1) S0P B80S’ 45% ?&é SORAT A0
Iv) T r;mig%w 83D Had5w, B w.ﬁn}gﬁg’ms%w 98 SIGT e90ETE)
V) 05 IS eenydhd srow drico 2y sezrerd” Gdo B0l
Options:

(i),(iii)and ( v ) are correct but ( ii ) and ( iv ) are wrong
| (1), (i) 208050 (v) 08003 57D (ii ) 2805 (iv) HED

(i),(iii)and (iv) are comectbut (ii)and ( v ) are wrong

, g (1), (i) 208080 (iv) RBe0DD =9 (ii) 2080k ( v) 205D
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(i),(iv) and ( v ) are correct but ( ii ) and ( iii ) are wrong

3 J{_i},{_iv};ﬁoﬂm (v) 2800035 5= (ii) Sobasw (iii ) 285D

(i),(ii1), (v ) and ( v ) are correct but onlv ( i1 ) 1s wrong
4 % (i),(iii), (iv) S08asn (v) 2desondH 5D E5v0 (i ) 85D

Question Number : 45 Question Id : 8135612605 Display Question Number : Yes Is Question
Mandatory : No

Corractly matched set of phylum. class and example 1s

;ﬁgm;. SOAS 20000 ETIrde DO 2SDOBLIEDE DE?

Options :
Protozoa — Mastigophora — Entamoeba

- TEE T — 2D Io - DotDer

Mollusca — Pelecypoda — Pmctada

m&:&b — 2050 — Hos
2. % =

Arthropoda — Diplopoda — Scolopendra
. egﬁ"cﬂ - AT — TS Dol

Chordata — Cyclostomata — Pyrosoma

4 % T — DEVDoer — PEE AT

Question Number : 46 Question Id : 8135612606 Display Question Number : Yes Is Question

Mandatory : No
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Label the parts corresponding to the numbers in the

2
diagram given below?
3
& S0t "9.'35&}&.:‘6 20220 o ‘.-‘aoméuﬁb AT ATT AT A )
o) M8odoed.”? 4
Options :
1 - Collar. 2 — Gill Shits. 3 - Proboscis. 4 — Trunk
- s0b. 2 - 2000y D050, 3 - Award(drete. 4-AwoeGo
1 - Proboscis. 2 - Collar. 3 -Trunk. 4 - Gall Shits
1- oproidoto. 2 - S08, 3 - 2Woio. 4 - 2000y DDz
2.
1 - Proboscis. 2 — Trunk. 3 — Gill Slits. 4 - Collar

L 1- Sw@ipogdede. 2-dwode, 3 - 2wdy 0dgen. 4 -6

1 — Proboscis. 2 — Gall Shits. 3 — Collar. 4 - Trunk

. 1 - J0Rrd(doto. 2 - 2Dy Dgen, 3 - swb. 4 - Ao

Question Number : 47 Question Id : 8135612607 Display Question Number : Yes Is Question
Mandatory : No

Which 1s not a member of Echinodermata?

Sod TES° APIET T Dot ED?
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Options:
Sea Lily
5 99

Star Fish
VG A& o

Ascaris

3 Gb“gjﬁfn

Ophinthrix

Question Number : 48 Question Id : 8135612608 Display Question Number : Yes Is Question
Mandatory : No

The protochordate that doesn’t have heart. respiratory pigment. blood corpuscles but performs

respiration through the external body surface 1s

D FOS 53 &S Irycto, FRIGE0, 8L &' dew) Gotran. ) FREW
e 300 6200V0 BT BMSR?

Options :
Oikopleura
2008 Qyo°

1. %

Doliolum

2 % Edadree

Branchiostoma
v eroSairY o
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Pyrosoma

DY ar
4, ® =

Question Number : 49 Question Id : 8135612609 Display Question Number : Yes Is Question
Mandatory : No

Urinary bladder is absent in
ArmrIcie O e

Options :
Aves
1 @ R8O

Amphibians
SFalewbinlonl h)

Mammals
2 6oren

Lizards
ALSREIS]

Question Number : 50 Question Id : 8135612610 Display Question Number : Yes Is Question
Mandatory : No
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In the given diagram of the typical chordate. Identify the parts labelled as 1,2, 3,4, 5 and select
the correct option?

Sotd @b&wd.ﬁ AdarT S“gé.‘f' D00 Mot 1,2,3,4,5 armrosy MHBet) A8 NArE a0
oS Babed?

Options :
1-Notochord. 2 - Nervecord. 3 - Gil slits. 4 - Heart. 5 - Gut
_ L-Ddote. 2- ¢ Gotlo.  3-200Dy DB, 4 - IFGade. 5D
1.
1 - Notochord. 2 - Nerve cord. 3 -Heart. 4 - Gil slits. 5 - Anus
5 % 1- i}aﬁé So%o. 2- TG Bolle. 3- FopalonilY 4 - 200y Odeen, 5- T30
1-Nerve cord. 2 —Notochord. 3 - Gil slits. 4 — Heart. 5 - Gut
1- ¢ Gotlo. 2- Oy Soso, 3 - JwdyDdgew. 4-TBae.  5- b
3.¢ "
1-Nerve cord. 2 - Notochord. 3- Gut. 4 - Gul shits. 5 — Heart
1- & Gotlo, 2-% ha dofo. 3 - D, 4 - 20y Odgew, 5- Tydade
4, % 0

Question Number : 51 Question Id : 8135612611 Display Question Number : Yes Is Question
Mandatory : No
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Identify the components of newromotor system in sequence’
(1) Kineto desmata
(1) Kinety
(111) Kinetosome
(1v) Infraciliary system
(v) Kineto desmal tibnils
(vi) Motorium

;Péxraﬁizgxﬁgéﬁsaﬁltﬁa%axrertﬁhn:xbﬁ:g:unﬂ?tiﬂynﬁudﬂ
(i) 326 axyer
(i) 38
(iii) SV’
(iv) Doy 3ds SIS
(v) 3" Gl e dodopen
(vi) Do=¢5°BcDo

Options :

1 % (iii) —= (v) = (ii) = (iv) —= (1) — (vi)

5w (i) = (i) = (i) = (iv) = (v) = (vi)
5 s (i) = () = (v) = (i) = (iv) = (vi)

4. o (i) = (v) = (i) = (i) = (iv) = (vi)

Question Number : 52 Question Id : 8135612612 Display Question Number : Yes Is Question
Mandatory : No

All protozoans are / have
) Jeiwadew

Options :
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Pseudopodia

- mﬁ&mﬂw £Of eotrran

Contractile vacuele
, w PoS88sa sBA otron

Holozoic nutrition

3 % F S5 2rons Fiam

Eukaryotic organization

4 NErSols e

Question Number : 53 Question Id : 8135612613 Display Question Number : Yes Is Question
Mandatory : No

Pulse - Polio programmie is organized in our counfry fo
200B 805" DOy - T'Dar S°G{S00 CIVE), VEfe

Options:
Spread polio
- Thar T DoV

Cure polio
) % = O0Er Sabddaiue

Eradicate polio
v O o A, ochoes

Reduce polio
4w 'axr Shoriow
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Question Number : 54 Question Id : 8135612614 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct sequence of stages in the Ross cycle of plasmodium?

a) Sporocyst

b) Ookinete
¢) Sporozoite
d) Zygote
e) Oocyst

é"ﬁldoﬁm Qins), T° Swabees” REH HER £50°Q) 8otdoc.?
a) ﬁﬁbﬁﬁfa:ng
b) &rSe5
¢) J\Baranes
d) Hoaing Dao
) &8
Options:
1. x d>e—->boa-=c¢
s xc—>d—-b—-a—e

3w d—=b—e—sa—ec

g4 2 €—=>d—=b-e—a

Question Number : 55 Question Id : 8135612615 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to dmgs?

Drug Source Effect
a) Morphine 1) Acetylation of Morphine p) On central nervous system
b) Cocaine i) Cannabis q) Depressant
¢c) Cannabinoids ui) Erythtoxylum coca r) Sedative & pain killer
d) Herom 1v) Unriped seed capsule of poppy s) On cardiovascular system

A8 GTRS) NotloBond S0l TER) 28Nk

308006 596) obéko
i) Sy ) S8 PGS Babko | p) So T IS0 D
b) 5§39 i) SN T Q) Gt
¢ sTdTondy | ii) BMEFwo e 1) Sady / &7 doocd &%
d) >oowd 1v) 0 2wg), OBSEDII S | 5) ol P SR
Options :

- (a—iv—q), (b—iii—s), (e—ii—p), (d—i—r)
5 v (a—iv—r), (b=iii—=p), (c—ii—s), (d—i—gq)
3 » (a—i—p), (b—ii—g), (e—ii—r), (d—iv—s)

4 % (a—i—r), (b—iii—s), (c—ii—p), (d—iv—q)

Question Number : 56 Question Id : 8135612616 Display Question Number : Yes Is Question
Mandatory : No

What external changes are visible after the last moult of a cockroach nymph

65’008 2B WIS’ PArHTRLo D0 IB)BRe AOITS Lo §Jod Arddy
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Options:

Labium develops
(3alovsrob) e.aij}.‘ﬁa:g

Anal cerci develop
JrodnTromen DG

Both fore wings and hind wings develop

- Ay 05) a0 Sobatn HE 85 en e.*:ﬂ:m;,:g

Hind wings develop
DO Bs) 0 DO

Question Number : 57 Question Id : 8135612617 Display Question Number : Yes Is Question
Mandatory : No

Anus m cockroach occurs on

€5°808 Do) JrainY AE) ¢ SV?

Options :

9t® sternum
x93 asugo

10™ sternum

5 % 10 & &d:Ddwse

Dorsal surface of 10 tergum

10 & DHyfvee DyRBwo
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Ventral surface of 10™ tergum

10 S JyDwse adbdvo
4. 2

Question Number : 58 Question Id : 8135612618 Display Question Number : Yes Is Question
Mandatory : No
The tropic relationship is expressed in terms of numbers; biomass or energy arranged one on

the top of its lower fropic level. resulting in a pyramidal shape. In case of a parasitic food

chain. the pyramud number 15

T8 PowoFToR Rogrbor S& & 3I(o3 DeorT Tar 3§ Do o0058° Jas
00 P 2Pfod’ T Golh Ao BB\S S DEWE 88D SR, HER) &
eseF O enmnes” Q0ar(OE O Gotwol?

Options :

Always upright

_— DVIDNED EFCITT

Inverted
5 SOSeouT

Neither upright nor mverted

3 % DT 5D, HISoEIeNT 5S¢0

Either upnight or inverted

4% DETFENT T T° HOSoLINT T Sotod

Question Number : 59 Question Id : 8135612619 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following factors has a negative effect on to the population growth rate
808 T36" 2 S°650 e DAMEUD DELTY HErdo BrYAY?

Options :
Natality

1w BOD0ED

Enugration
5> & S0P St

Immigration

ST Do
3. %

Mortality
FoblolTol-5%]

Question Number : 60 Question Id : 8135612620 Display Question Number : Yes Is Question
Mandatory : No

Autoecology refers to

e3EIT I AL

Options :
Ecological study of individual species

- 2,8 2GS Bod EHw Borade Slal(ent

Ammal ecology
2080V BT°B08 TR0

Plant ecology
QW8 o BTH6E TR

AP EAPCET 2021



AP EAPCET 2021

Population study

2geer mﬁ}gcma‘m
4, %

Question Number : 61 Question Id : 8135612621 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to fresh water ecosystem? The correct statements
are

1) Pond 1s an 1deal example to understand the findamentals of aquatic ecosystem

if) Indeep lakes. light can penetrate more than 200 m i depth

(
(
(1) Deep water lakes contain three distinct zones namely Littoral zone, Limnstic zone, Profundal zone
(i) Littoral zone 1s the shallow part of the lake closer to the shore

(v) Limnefic zone 1s the open water zone away from the shore

(vi) The rate of photosynthesis is equal to the rate of respiration in littoral zone,

20025 w50 2508 RotioBold 30 LIV (DBordoc

(i) 2ot dadde R BN GRS e §0 vl B0 So80N G

(i) '35 20R0\u8" 5708 200 b Sotf A &0 o S oy

(iil) &'9% MR\ JPEd AR 0B G300 ) Serotie) Soteo, By B otiee,

TFirokd Svowo

(iv) B8 o goc, 6'd eI 68 Foddd) Serorde Hotvo

(v) Soed8 Grdorr Goli 2ur3ah FFods B30 08 Svotiwo

(1) Deroe dokwod’ édm&b}gﬁ@rﬁéoﬁr ]2 ?“S‘&}éo:ir BE0S DATRHOT Sobod
Options:

(i),(iii), (iv) and (v ) are correct
1 % (i), (iii), (iv) Sodaiw (v) RO DS

(ii),(iii), (iv) and ( v ) are correct
5 % (i), (i), (iv) SoBodw (v ) 20D DSeaden
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(iii ), (iv ) and ( v ) are correct

3 @ (iii ), (iv ) S08ain (v) RO DSerde

(iv ), (v) and ( vi ) are correct

4w (V) (v) S0B050 (i) 23S DSwdew

Question Number : 62 Question Id : 8135612622 Display Question Number : Yes Is Question
Mandatory : No

Eufrophication is the natural ageing of lake by
‘bﬁmbﬁﬁ Dci:]é RPN a"gsv?gbﬂl CrES D3R Botrd. A3 A S0t

Options :

Nutrient enrichment

a8 Hororen HBRY Do
1.+ ®

Sewage enrichment

5 5 SEMH DBAD Seo

Physical enrichment

5 x DOSeIT DBAY DEo

Fertilizers enrichment

) DD 28T 3o

Question Number : 63 Question Id : 8135612623 Display Question Number : Yes Is Question
Mandatory : No
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Choose the correct statements related to ecological pyramids?
(1)  The trophic relationship 1s expressed m terms of numbers. biomass or energy arranged one on the
top of its lower trophic level. resulting i a pyramid shape
(1) The base of each pyramid represents producers. while the apex represents the top order consumers
(i11) The pyramid of biomass in sea is generally upright
(iv) Inthe case of parasite food chain, the pyramid of number 1s mverted

(v) Some species belonging fo two or more trophic levels is not limitation of ecological pyramid

Ba206 3)6{13(;;53 Rotiofe) NBM ELNA Jows talod?
(1) T doworrod Rogr(dorr, £ @3 Oer 3¢ :2005¢" S‘as?';)“om D griodS” Aufseh
ol Dot 5By S0rr DO 68,36" €0
(i) 9O H6DE Sberriod’ &3\ Berhn, 390 riod’ &3 8 363 AaIrAerden Gotrox
(iil) rrdods” G303 DO FErGe0m DTG Gotod
(iv) Do) d ey Vi o 20E 80 Socenre Eobwod
(V) 28 28 Bold 420 Totd T BodSol) 98 ﬁ“a'zsgﬂnnmﬁ“ Gotiblo A6t DG
5608 datsty 7 |
Options:
Except ( 1ii ) and ( v ). all are correct

| o UHE)S00min (v ) &y, DADDD By DBID.

Except (11 ) and ( iii ). all are correct

L, (i) 208k (iii) 82y, DABSD ) oD,

Except ( iii ). all are correct

. (i) 8Dy, ADID ) 2T.

Except (ii ) and ( v ). all are correct
, e L) 208030 (v) 3%y, DADAD 9y DBHD.

AP EAPCET 2021



AP EAPCET 2021

Question Number : 64 Question Id : 8135612624 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

ListI List IT
i) PO, of alveol lungs a) 40mmHg
i1) PO, of atmospheric air b) 95mmHg
iii) PO, of deoxygenated blood ¢) 104mmHg
1) PO, of oxygenated blood d) 159 mmHg
&1 Sofd TR ABH0LE?
031 Pp I

i) &ddadow sromsTed’ PO, a) 40 .2 Hyg

i) TTadte & mdes” PO, b) 95 .ad Hg
iii) 500 6ird 6808’ PO, ¢) 104 . Hg
V) €302 Rareh 65080 PO, d) 159 ao.sd Hyg

Options :

| % (i—b),(ii—d) (ii—a)(iv—rc)

5 % (i—¢),(ii—b),(ili—a),(iv—d)
3 ¢ (i—c) (ii—d),(iii—a) (iv—b)

4 % (i=b),(ii—d),(ii—c),(iv—a)

Question Number : 65 Question Id : 8135612625 Display Question Number : Yes Is Question
Mandatory : No
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Match the following respiratory capacities and respiratory volumes of a normal human adult?

Respiratory capacities Respiratory volumes
a) Residual volume 1) 2500 ml
b) Vital capacity i) 3500 ml
¢) Inspiratory reserve 1) 1200 ml
d) Inspuatory capacity ) 4500 m!

Bridd RERD w8 FEron ArdPIS’ (o ?Sﬁé"mgﬁm 20805 TR
ADRR0ArEFLLA A0 adhdan?

TR FE0T° e TR WADBATET
@3

2) 03I WIHBATHE. ) 2500 ml

h) 206 &mgéo i) 3500 ml

¢) em"%"ro Q0D DNDBATE u1) 1200 ml

d) em“ab".-o bv.mg?sn iv) 4500 m!

Options :
1 J(a—iii Y, {(b—1v),(e—i),(d—ii)

, % (a—iii),(b—iv),(c—ii),(d—i)

3« (a—iv),(b—iii),(e—1i),(d—ii)

4 % (a—iii),(b—i),(e—iv),(d—ii)

Question Number : 66 Question Id : 8135612626 Display Question Number : Yes Is Question
Mandatory : No
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In a healthy adult man. the smallest fype of leucocytes are

28 B {HDoSDD 200G S DI By EgSETw

Options :

Lymphocytes

o 2oTRE

Monocytes

. TSRy

Basophils

L BYDS,

Eosmophils
’E‘f»ﬁs EJES;)

4. %

Question Number : 67 Question Id : 8135612627 Display Question Number : Yes Is Question
Mandatory : No

The condition n which Kidneys fail to conserve water leading fo water loss and dehydration

due to impaired ADH synthesis or release s

ADH g Gor 608" 00038 39 Jrgetrw DB DodEoticied” DpwABCio
5% D8 S0 20Baty AgDS60 HoziDod 26 Diokrt?

Options:
Diabetes mellitus

| COIrEd 20000

Glvcosuria

A8 rdair
2. % o
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Ketonuria

5 » SR80

Diabetes msipidus
OB 'H.ﬁr}ﬂ}cﬁ:&
4

Question Number : 68 Question Id : 8135612628 Display Question Number : Yes Is Question
Mandatory : No

To maintain a concentration gradient in the medullary interstitium. Na(l

¢3¢ mwﬁogoﬁ e PORSR Aretrd$ NaCl

Options :

Passes out of the descending limb of Henle's loop and enter the blood of the descending limb of vasarecta
P[0 A8 LSETN T dod wabbt 3 TITF BTy 6ged"DE B,

Passes out of the descending limb of Henle's loop and enter the blood of the ascending limb of vasarecta
R0 Alvg), BTN TYo Mol b 3 TITT BEITY 05064 B0,

Passes out of the ascending limb of Henle's loop and enter the blood of the ascending b of vasarecta
PRS0 g, BBPTo ol woHiD SO TFTT GBFTY 6508 Bhiod.

Passes out of the ascending limb of Henle's loop and enter the blood of the descending limb of vasarecta

A 35[0 W08 Mool wabiidh 30\ TIVT WIETTY 65078 Bdickood.

Question Number : 69 Question Id : 8135612629 Display Question Number : Yes Is Question
Mandatory : No
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Women in their post menopause are likely to suffer from

e’ rSTE 32 S0TS D WHLBS TBERE?

Options :
Arthritis
00D

Osteoporosis
BRI TR

Gout
(Te5

Myasthenia gravis

;ﬁaojrfg.bc::i:“ T

Question Number : 70 Question Id : 8135612630 Display Question Number : Yes Is Question
Mandatory : No

When “A’ stands for Axon. ‘D’ for Dendrites. °S” for Synapse and “CB’ for Cell body. a
tvpical sequence of structures between a receptor and an efferent is

A - 803558m. D - Gofls. § - TEER Dod 208010 CB — TEEH BN ArdedddS.
S0 D" DB Trérsodsy S0bai BTERS TN | DL o G0l SR Svo DE?

Options :
1 % D—-A—-S5S—-CB—-D—-A—-CBH

2« D-CB>A—-5—-A-(CB—D

3 oD—CB-A—-S—D-CB—A
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4. % A—->D—-CB->5-A-D-C(CB

Question Number : 71 Question Id : 8135612631 Display Question Number : Yes Is Question
Mandatory : No

Pitmitary gland and Hypothalamus are shown in the

figure with labels 1 to 5. [dentify them correctly?

S0P fof 80k PG Hio 1 Aol

5 ol Qagwton. B VBT HBotiod?

Options :

1 - Infundibulum. 2 - Hypothalamus. 3 - Portal Circulation. 4 - Posterior Pifuitary. 5 - Anferior Pituitary
. 1= Serols, - FURCRN. 3 GRS H6R. 4-00 i:wlx]uﬁ. 5- 6 3:&1?506

1 - Hypothalamus. 2 - Infundibulum, 3 - Portal Circulation. 4 - Anterior Pituitary. 5 - Posterior Pituitary
1-pJoord0. 2-soreds,  3-JoErs YRdio. 4- 6 fae.w]geaﬁ. 5-96 fde.u“‘geaﬁ

2. %
1 - Hypothalamus. 2 - Infundibulum. 3 - Portal Circulation. 4 - Posterior Pifuitary. 5 - Anterior Pituitary
L-pJoord0. 2-swols,  3- GRS 6o, 4-30 2:@.13"5@.)6. 5- 6 3:&1?506
3.v
4. %
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1 - Infundibulum. 2 - Hypothalamus. 3 - Portal Circulation. 4 - Anterior Pituitary. 5 - Postertor Pituitary
-swrods,  2-pJBeD3. 3- 0GRS Y00, 4 - p6( JUr(d. 5 -6 dewrjd

Question Number : 72 Question Id : 8135612632 Display Question Number : Yes Is Question
Mandatory : No

Match the following about lymphocytes of mammals and select the correct option?

Character B Cells T Cells
i) Mature in a) Produces antibodies p) Cytotoxic 'T" cells
i) Free antigens b) Plasma cells q) Cannot produce antibodies
1) Effector cells ¢) Bone marrow 1) Cannot recognize
iv) Antibodies d) Can recognize s) Thymus

£6mo Boptio (ArBy S0 D 18D 908 HSrET) dods dabod?

Vo B Dod85 T 8o'65
) 068 Bocio 1) pOGFEsd | p) Tc sme
i) dEEypdadse | b) I S 1) 20BN U 68\S BebIY
1) PSS Std0 ¢) wi{g 202 1) BotsT)
iv) HadHtw d) ABorstud) 5) BRI
Options:

1 % (i—b=p),(ii—=d—r),(lli—c—s),(iv-a—q)
2_&,{_i—c‘—s].(_ii—d—i'].(_iii—b—p).(iv—a—q)
3 % (i—b—p),(it—a—q),(ii—c—s),(iv—d—r1)

4 % (i—i=—g),(ii—a—9q), (ili—d=1),Hv—b—p)
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Question Number : 73 Question Id : 8135612633 Display Question Number : Yes Is Question
Mandatory : No

Seminal plasma in human is rich in
AFADHNG” FosdDe (RS é"ﬁ"é] R0t IS ST Golid

Options :
Fructose. calcium and certamn enzymes

v HEE. sQodo. £y do@Doew

Fructose and calcium
288 20dakn sdabo

Glucose and enzymes
ArE'E 0800 JoBIoew

No calcmum. no fructose. only glucose

. ArEE ATBD Gotwod. S Pakoe. DEB GodD)

Question Number : 74 Question Id : 8135612634 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Ammniocentesis is used to detect the chromosomal defects 1f any. m the developmg foefus.

Reason (R): Amniocentesis 1s a cvtological study of the foetal cells for abnormal chromosomes.

TR (4): 0020 Doddddy ZredS §ard S0 SORT(RR) Bt 8 GVNES 2043
&OrATA.
s°0to (R): 270 Serw §ardwe EIRNTVR STE)$ ecioddo SobedS Gy K88 .

Options:
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Both A and R are correct and R is the correct explanation of A

1@ A H08050 R e Todtr 28 90054, R 09298 A S wbeans D500,

Both A and R are correct and R 15 not the comrect explanation of A
A 508030 R en Godir 20 9000, R 938 A § 2800w D508 57

A 1s comrect but R 1s wrong
A 2038 570 R 2857

A is wrong but R is correct
A 2857 570 R 20D

Question Number : 75 Question Id : 8135612635 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): During the formation of placenta some layers of uterus are eroded and during
parturition extensive hemorthage oceurs

Reason (R): Placenta of man is described as haemo endothelial placenta

TSR (A): 207080 D6YEDB) A (fory#ato g, E) Tdeo DB GN Botitio H¥
303 23003008 ©BE 6EFH0 2ANDED.

S

580 (R): Sr8)98° 2T0505) o Jot dDabe) 2orabuym HBorieredod.

Options :

Both A and R are correct and R 1s the correct explanation of A
A 208010 R en Godr 20 20000, R 938 A S 2800 e

Both A and R are correct and R is not the correct explanation of A
A J0bcin R e Godtr 06 00050, R 938 A S 20008 D566 5260

3.¥
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A 1s correct but R is wrong
A 20206 572 R 2057

A 1s wrong but R 1s correct

4 % A 2857 57 R 2008

Question Number : 76 Question Id : 8135612636 Display Question Number : Yes Is Question
Mandatory : No

In man. which of the following genotypes and phenotypes may be the correct result of

aneuploidy in sex chromosomes?

ARG Tods §ard’ 00 améﬁomdé RotioBor)d a-ﬁ:}sﬁr&m 208010
SyBjordren &° DR AT Botsel.?
Options :

22 pairs + Y females
22 280 + Y Qeo

22 pairs + XXXY females
22 aaden + XXXY Hew

22 pairs + XXY males

5 v 2228w + XXY 3HEow

22 pairs + XX females
22 aden + XX Dew

Question Number : 77 Question Id : 8135612637 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Pedigree analysis helps to work out the possible genotypes from the knowledge
of the respective phenotypes.
Reason (R): Pedigree is a chart showing record of inheritance of cerfain traits over two or

more ancestral generations of a person,

TR (A): 0% S8 DB cbaéﬁdrﬂ".‘l}é RotloBot 2R[Ero JEr Gotwod
B8 A8 dial HERB.
oo (R): 28 Dgag, V£80 Dot T WodSol) IS I WS, 2rogs dowd’ D dgorr
P05RRV0E AT BVH DO Ho3dy8 DFne wokrdy.
Options:
Both A and R are correct and R is the correct explanation of A

- A S08ci0 R e Todr 20 20030, R @958 A & 200002 oS00

Both A and R are correct and R is not the correct explanation of A
A ZoBain R en Gotr 26 ©9000). R 938 A § 2800 DH06m 57

A is correct but R 1s wrong
A 2038 572 R 2057

A 15 wrong but R is correct
A 28576 57 R 20D

Question Number : 78 Question Id : 8135612638 Display Question Number : Yes Is Question
Mandatory : No
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ListI List IT List IIT
a) Duchenne muscular i) X-linked p) Mosaic appearance of
dystrophy DMD dominant skin
c v i i A Expression 15 limited
b) Hypertrichosis i) Sex limited Q) EXpress
’ fo only one sex
e . ) X - linked t) Proaressive
¢) Inconfinentia Pigmentt : ik
” recessive weakeing of museles
C % m B . ; s) Excessive growth of
d) Secretion of nulk 1v) Holandric 3 SRk O
hair on the pinna

S0 T8 2EDGBeC.
Y B By T

2) COB3) S0l in

i) X-dod &J‘Z‘Pgé RER0

p) ©do Ararans
araod’ ﬁft‘.’)ﬁofbd.o

b) iTHEEE DD
s L]

i) Dorf HBNE

Q) aﬁsam 28 dorr s
HBabddo TG0

¢) 995oidotiodr
hd00t)

i) X - Do @u@giﬁ V&0

1) SoGU® QORI

d) £6 Fdo

iv) Ferods

) @) 82y ot
Biaran D6he

Options :

1« Ca—ii—r), (b—iv=s), (c—i—p), (d—ii—q)

5 % (a—i—r), (b—ii—s), (¢—iii—p), (d—iv—g)

3 % (a=—=i—1), (b—iv=—yg7), (e—iii=—=p); (d —=ii=—=q)

4 % (a—i—p), (b—ii—q), (c—iii—r), (d—iv—s)
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Question Number : 79 Question Id : 8135612639 Display Question Number : Yes Is Question

Mandatory : No
Assertion (A): Chemotherapy and mmmiuno therapy are used to destroy cancer cells that might

have moved to parts of body
Reason (R): Chemotherapy has side effects such as loss of hair due to destruction of ‘hair

follicle cells

TED (A): Birod'D Q6 Tt TR0 500 SETU) 630 D88 oBoso s
VB¢ DR EDAITNo) T30 B
s°6t0 (R): 6o :ﬁﬁ@:)&‘f B PBse seren THd0 STAGo SV 0N o JF Tl

(A" DR0L) ered) COEPT L) Gobraw,

Options :
Both A and R are correct and R 1s the correct explanation of A
1 % A S0Boin R en Gottrr 28 ©andd. R 0938 A S ddeowd Jo66

Both A and R are correct and R is not the correct explanation of A
5> v A S0B0IL R v Totlr 20 90030, R 936 A S 2809008 D508 596

A is correct but R 1s wrong

L« A 0D 5D R R85

A 1s wrong but R 1s correct
4 % A 2057 57 R 25

Question Number : 80 Question Id : 8135612640 Display Question Number : Yes Is Question

Mandatory : No
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Recognize the figure and find out the correct

matching?

6308 HBotiod BIBCH0 VTR DATEFR0R
AsBotsod

Options:

1- PR Segment. 2 - PR Interval. 3 -
1-PR ®otio. 2-PR eocho. 3 -

1. %

AP EAPCET 2021

£l

|

QRS Complex. 4 - ST Segment, 5 - QT Interval
QRS ‘rbn%%lu. 4- ST oko. 5-QT ©odbo

1- PR Interval. 2 - PR Segment. 3 - QRS Complex. 4 - QT Interval. 5 - ST Segment

1- PR e903C0. 2- PR ooko. 3-

2. %

1 - PR Segment. 2 - PR Interval, 3 -
. 1- PR @otio. 2-PR @ochde. 3 -

1- PR Interval. 2 - PR Segment. 3 -
v 1- PR e9ocdo. 2- PR &otio. 3-

4.

Section Id :

Section Number:

QRS ‘:bné%lu. 4 - QT ®oeddo. 5- ST otio

QRS Complex. 4 - QT Interval. 5- ST Segment
QRS ‘r'\‘méﬁmlo. 4- QT ©o&8Go. 5- ST Doko

QRS Complex. 4 - ST Segment. 5 - QT Inferval
QRS ‘r'\:!oé‘?;éo. 4- ST avote. 5- QT e20dhdo

Physics
81356157

3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135612641 Display Question Number : Yes Is Question
Mandatory : No

Force of friction and tension inn a string are 1N origin
0 CﬁJJE-?J L_'J.JEE’; bublalanhb] ﬂ&éﬂ“ EJRTPLS) AP

Options :
Gravitational forces

mm@ossgn EIRTTRND

Electromagnetic forces
DEHOIRT), 00 LI

Nuclear forces

Sofs peren

Weak nuclear forces

0T Sods eere

Question Number : 82 Question Id : 8135612642 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column-I Column-II
(a) Conductance (1) Gray
(b) Magnetic Induction (1) Lumen
(¢) Absorbed dose (1) Tesla
(d) Lummous flux (1v) Siemens

& So® TR BHGHG?

-1 28 -11
(a) T (1) 0
(b) eI 0 6e (i) wr0d
(¢) Fhsarocd (i) &F
(d) D88 DTiro (iv) 53:1353

Options :
1% (a—i),(b—iii),(c—ii), (d—iv)

, & (a—iv),(b—iii),(c—ii),(d—1)

3. % (a—iv),(b—1i),(ec—iii),(d—ii)

4. (a—iv),(b—iii),(e—i),(d—1i)

Question Number : 83 Question Id : 8135612643 Display Question Number : Yes Is Question
Mandatory : No
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For a body projected vertically upwards with a velocity v, from the ground. match the

following?

Column-I Column-IT
o . . g
(a) v,y (Average velocity) (1) E
A L Dt .

(b) 1y, (Average speed) (i) ——— overany time-interval
- : o

() Tisgent (111) ?ﬂover the total time of its flight
. Uy

(d) Tdescent {v) E

APaR06 VYT 1, DG DBLES S0P $od TV 28 Babod?

SdoR-1 S8d -1
(2) Tgp (R D0530) 0 =
B
(b) 11y, (2066 3E) (1) nth over any time-inferval
/ ar

2020 GEVT 5‘&3;35;:)¢25“
©) T P R (111) ”?a over the total time of its flight
€} lascent

Qddn pivsvaS’
(d) 30 STOAY (iv) Yo

g

Options :

| o (a—ii), (b—iil),(c—iv),(d—1)

, « (a—iii),(b—iv),(c—1) (d—ii)

3 % (a—iv),(b—i),(c—ii), (d—iii)

4 % (a—iv),(b—1i),(c—iii), (d—ii)
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Question Number : 84 Question Id : 8135612644 Display Question Number : Yes Is Question
Mandatory : No

A stone 1s just released from the window of a train moving along a horizontal straight track. The
stonie will hit the ground following a

£82 DATOBOAVT &) Jun DEPUR VOTEI) w8 J 884 oot 2,8 Trowd &0
DA © ©E W, & Tow SV T8 Ardn J6?
Options :

straight line path
ROVoar QIGA

circular path
o= argm

parabolic path

2T HLO3 AT°0000
3.¢ -

liyperbolic path

e0¢ 00" D030 AFGAD
4, % a

Question Number : 85 Question Id : 8135612645 Display Question Number : Yes Is Question
Mandatory : No

A particle starts from origin at t = 0 with a velocity of 15 m.s™* and moved in xy-plane
with an acceleration of 15 + 20 ] m.s~2. The y-coordinate of the particle when it has

180 m as its y-coordinate s

20PRoddR) t = 0 I MGT g0 151 m.s ™ Itfod (151 +20] ) m.s™ digeed
1y 00 SRS 08, D o BB S0  — AArDEA 180 1 ©YBE, BB DAAHIN
3¢ 1 — AEPDSAW
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Options:
1 = 180m

9 % 120 m
3 160 m

4. % 200 m

Question Number : 86 Question Id : 8135612646 Display Question Number : Yes Is Question
Mandatory : No

A student whirls a stone 1n a horizontal circle of radius 5 m at height of 5 m above ground. The
string breaks and the sone flies off horizontally. The stone covers a horizontal distance of 20 m,

The magmtude of centrifugal acceleration of the stone when it breaks off 1s (g=10m.s7%)

Aro8 5 m QY w8 (B 5 m FRGANE §0% ATeds HEAY’ 18 TaNd
BRYYT) 0. 86 BAYa T £8 VATeAEINTT Janed. & T 20 M £8a VATeds
Grbo pasrshodod. Traw 8h Fansipd) o edEed d(btndw (e=10m.s7%)

Options :

_— 80 m.s~*
5 % 90 m.s 2

3 % 140 m.s™?

4 % 163 m.s 2
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Question Number : 87 Question Id : 8135612647 Display Question Number : Yes Is Question
Mandatory : No

A force acts on a body of mass 50 kg. for 10 seconds. When the force stops acting on the body. the

body covers 80 m in the next 10 seconds. What 1s the magnitude of the force?

10 dsdoed’ 50 kg G203 (1 SP w8 LYW BIBWD) B. WY 6 HED Q)
BR0E, 3676 10 2$008° 80 m Groaw Hoiraw Bod. i aI08), HBAPHAD Jods?

Options :
1.« 40N

> % 50N
3 % 30N

4 % 60N

Question Number : 88 Question Id : 8135612648 Display Question Number : Yes Is Question
Mandatory : No

The graph between resistive force F acting on a body and
the distance covered by the body is shown in the figure.
If the mass and initial velocity of the body are 25 kg and 2) speoemnssnos

F(N)

2 m. 5! respectively. find ifs kinetic energy after having
travelled a distance of 4 m
101
&8 S0 2 HABA TGS wewdw F 2dokn | :
208rsodd Gro Sodig fiod o Hswes , . .
SrORCAB. SR aR0g), GITd 25 kg Bakn o 01 2 3 4 x(m

ai0g), & O8N 2 m. 57" 580 DOreioRdd crdidn
4m ©a/Y\@, ) CI0E), (B3

Options :
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1 v 107
, % 2017
3 % 407

4 % 5017

Question Number : 89 Question Id : 8135612649 Display Question Number : Yes Is Question
Mandatory : No

The angular speed of a fly-wheel making 180 rpm is
180 rpm So0erdS (8 Fog B8an dws), Skob Sd
Options:
1w (4m) rad.s™?

5> (6m) rad.s™1

3 % (2m) rad.s™!

54
(—) rad.s™ 1
4, % \IE

Question Number : 90 Question Id : 8135612650 Display Question Number : Yes Is Question
Mandatory : No
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A solid eylinder of mass ‘m” and radius “r” starts rolling down an inclined plane of inclination
6.1f the friction is just enough to prevent shpping. the speed of its centre of mass after it has
descended through a height *h’ 1s iven by

m GO0, 7 TG SRR w8 0P Arddw 6 Tew Srndw ¢80 ws Te dudwp
Bt FEodotB. :qu::m &ES00 SOEP o @03 Sodo h JB) So&ss
B8, & Dorkde 6 G303 Sodw A, Jw dod?

Options :

4
’—gh
1. # ?

3
- zgh

3gh
‘\’ 4
#®

4.

Question Number : 91 Question Id : 8135612651 Display Question Number : Yes Is Question
Mandatory : No

If the radius of a spherical object. rotating about its diameter with a time period of 2 seconds, i
reduced to half its actual value. keeping its mass unchanged. its time period becomes

(assuming zero external forque)

228300 8563 W ¢0A o Tjo tﬁag"?s Bedoman SoeR) w8 Avss SY
), m5awgnnm 39 353“%:.1136“ AT Dot T GHT3 i{gd;mn“ Go)d, &
Ao aws), §8 eddd swo ___ (erir| 0§, 3rdjo wand)
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Options:

Remains the same

1 % SATGED

2.% 05

4. % 1s

Question Number : 92 Question Id : 8135612652 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 10 g 1 executing simple harmonic motion about a point with an amplitude 20 em.
If its maximum velocity is 100 cm. s, its velocity will be 50 em.s~* at a distance of em

from its mean position,

10 g (03 $BA 28 508 20 om Soidd HBNGE OVTTBS SIS’ 636, T Awg),

(050 100 om. s wond :13“{,’153}.)5‘. gvao 008 dodd &rdo Rlo (cm 8’ ) ©& 50 cm. s~
3o £ Boco?

Options :

_— 1043
, = 15v3
3. % 5*"."|l§

i

4 % 20v3
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Question Number : 93 Question Id : 8135612653 Display Question Number : Yes Is Question
Mandatory : No
A spring balance s loaded with two blocks m, and m,. where my 1s ngidly fixed with the
spring and m;, 1s just kept over block m,, The maxinum energy of oscillation possible,
assuming both the blocks are always in contact with each other. 1s
28 ;b_joﬁa‘u my 0808 m; 9N Totd g.jéc"mvﬁ” POFRAD BT, WoddE’ m, By
bgoﬁJSJ Gycsorr DRotsIGAA. m; By, my B} D& &, 1, &) my & }'0359956
;.:‘)rl:p_):)c.‘.a .‘55;5:’35& 3»@@@5 0% S0 3
Options :
m{g?
1.% k

myg?
2 % 2k

mfg?
3.5 2k

(my+m5)2g?

4. 2k

Question Number : 94 Question Id : 8135612654 Display Question Number : Yes Is Question

Mandatory : No
A satellite of the earth is revolving in a circular orbit with umform speed “v". If the

gravitational force suddenly disappears. the satellite will

A0 obir 4 60w D668 96 1" & BT s5(6° Fveren Boluwi) 8.
53 B0rT HOB(SER LB BEHS, & EDFrIY

Options :
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Continue to move with velecity “1v" along the original orbit

. e 55595‘ V' DOANS SERMOAT SotLod
1.

Move with a velocity “v” tangentially to the original orbit

Dz SEFE 30y SRt ‘17’ DEAVS Edendiod
2.

Fall down with increasing velocity

3 % D0 DODSLE HETB00d

Comes to rest somewhere on the original orbit

D 55595“ DE e S D0 DS DB
4, % = -

Question Number : 95 Question Id : 8135612655 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct expression between radius (R). density (p) and the escape velocity from the

surface (1,) of a planet.

28 (rPdn akog), TG0 R 2ok Fodd p ©ond, & (i 508U Mol
DO DD

Options:

Y
‘e
1. % &

) % i, o pR
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o
4 @ Ve X R.\/p

Question Number : 96 Question Id : 8135612656 Display Question Number : Yes Is Question
Mandatory : No

Steel 1s preferred for making spring over copper. Why?
2206 SoLrd BALH TH ST7) DS DO FEAS AT . Jo®IVD?

Options :
Steel 1s cheaper
28 DI FEDBE

Young's Modulus of steel 1s more than that of copper

o°h §77) 2365 £ 0fdof AL SEURS
2. £

Youngs' modulus of copper 15 more than that of steel
5;\395 €37 T S aDof (DEsID I8

Steel is less likely to be oxadized

L f;fges S8, ST Eﬁ%édﬁ Bodocduod

Question Number : 97 Question Id : 8135612657 Display Question Number : Yes Is Question
Mandatory : No
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An air bubble of radius 1.0 em rises with a constant speed of 3.5 mm s through a liquid of

density 1.75 x 10° kg m™®. Neglecting the density of air, the coefficient of viscosity of the
liquid is kgm=s?

Foghed 1.75 x 10% kg m™ SRS Gdods” ;’gd@é idw 3.5mms™t & L0em J‘ﬁﬁ“gm)
sdAR 28 D awndd 28 SERVR) B. ™0 Fogdan S}K}é&fg, (at))! i:.lga RS ed
kgm™s™ o

Options :
1. % 54.5

2 « 109
3 % 163.5

4. % 218

Question Number : 98 Question Id : 8135612658 Display Question Number : Yes Is Question

Mandatory : No
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Identify the mcorrect statement about *angle of contact’;

(a) Angle of contact depends upon the inclination of the solid surface to the liquid surface,
(b) If the angle of contact of a liquid and a solid surface 1s less than 90°. then the liquid
spreads on the surface of the solid.
(¢) Angle of contact increases with increase in temperature of liquid.
(d) The value of angle of contact for pure water and glass 1s zero.
SN Etr 3 2o20oB00d & 308 TS 205 TR06?
(a) Ryo°y Sradw §3de7DE wddwo SR &%) Tep BEEhE Gotiod
(b) G, 208 dwhwe D06 R\ s 90° ST) B80T &ofd, G0 0N
;‘Jr:?g;‘.m:g 2R Betd
(c) & e HOAMS, yory Seadw Deasd SrE ANDD
(d) RGE\B000% Ao~ Trerd 0y0°, Eeaitng PR

Options :
(a) only
1. ¢ (a) g

(b) only
5 % (b) Sogo

(c) only
3 % (c) ar-d20

(d) only
4 % (d) Srgdo

Question Number : 99 Question Id : 8135612659 Display Question Number : Yes Is Question
Mandatory : No
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When heat 1s supplied at equal rates to three substances 4. B. €

and their temperatures are plotted against time. the following 9 A

graph 15 obtaned. Which material among A. B and C has the : B
least heat capacity? C
A. B 00080 € ©d f.’JCT’g"OSJ QAR DOArTFVS” e:r:;;m

RGHT° BoercIdod. HLANG" tﬁ?ﬁ)n‘x‘)gp r%g (i Sodaiw t(s)
TUAY JSVE T Aobadds. 4. B 2akw C o&°

[aN] 8839 &Q S“mgé.jn &) A7
Options:

1.v A

2. % B

3. % C

Can’t be determined
ﬁ:}.':}ﬁ Fabh]
®

Question Number : 100 Question Id : 8135612660 Display Question Number : Yes Is Question
Mandatory : No

100 L of gasoline mamtained at 10 °C s filled wto a steel tank. kept in a room at 10 °C. When
the temperature of the room 1s increased fo 30 °C, how much gasoline will overflow? Given.

Petpe = 12 % 1078 °C* and coefficient of volume expansion for gasoline = 95 x 1075 °C"*

10°C &6 56 &3) 100 Doy D3, 10°C 36 63) (86" w8 DS (s &
Qoed6. (B g &IiSS" Do 30 °C owd Jod mIBD TohTdm?
=95% 107°°C"Y)

P 106 o1
(ff%ﬁ =12X107°°C 7, ¥ _pe

Options :
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| % L37L

, o 182L

3 % L60L

4 % 7.20L

Question Number : 101 Question Id : 8135612661 Display Question Number : Yes Is Question
Mandatory : No

- v |
Two moles of helium gas are taken along the path ABCD (as ( )m )
shown). The work done by the gas is i B :
Ooch) Arewe FHaHR) Tak0:Y Hedwe’ drdien ABCD 10
APg G S8 THARS, Fo0) B39 9 o1
—
U 250 500 750 1000
T(K)

Options:
- 4
2000R (1 +1n (?))

1. %

5 % 500R(3 + In(4))

- 500R (.2 + In (19—6))

| e
» 10_003(1“11 (F))
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Question Number : 102 Question Id : 8135612662 Display Question Number : Yes Is Question
Mandatory : No

In the kinetic theorv of gases. 1t is assumed that the gas molecules:

TORV)L) LEAVIOD ?acg"nej;hm’)‘, T°0300 VPV & S0d DGV &HPFW.

Options :

Repel each other
28 TR S5 DSGorhd SotIraw

Collide elastically

ABTHES 9DHrGA) DotEEaD
2.¥ @ 8

Move with uniform velocity
28683 DAAnE scvenTrow

Are massless particles
B3] T°3 GadPeh SEFL) SotTPo

Question Number : 103 Question Id : 8135612663 Display Question Number : Yes Is Question
Mandatory : No

A transverse wave is represented by x = Asin(kx — wt) . The velocity of the wave is given by
wS 865 ddorian Pty E6mA x = Asin(ky — wt). Sdofian a8, Sl

Options :

2. % kjw
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3 % wt

4.v @/k

Question Number : 104 Question Id : 8135612664 Display Question Number : Yes Is Question
Mandatory : No

Two equiconvex lenses. each of refractive mdex 1.5 and focal length *f are kept in contact
with each other. and the space i between the lenses is filled with a liquid of refractive index

1.75. The focal length of the combination 1s

S5 Aeadan 1.5 2080k mjlgoe:tdan f 89A Bocd RORATY Dol SHSW
0y0)8° Gotstad, T 206 o ar? 175 S35% (et SDAD 28 GaSw B
QonrIGd. ond & Hodirfe anos), o133 ?Eﬁﬁo@ém Jod?

Options :

f

1. % 3

Question Number : 105 Question Id : 8135612665 Display Question Number : Yes Is Question
Mandatory : No
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A screen 15 placed 50 om from a sigle shit. which is illuminated with a light of wavelength
600 nm. If the distance between the first and third maxima in the diffraction pattern is 3 mm.

then caleulate 1ts slit wadth.

600 nim @0t 38w €84 57058 8 208 0B84 pE3dosian B, DD, 6L

m@}g Ao AreA 50 em. 56 :Jé@‘ QDG 00030 rED ﬁﬂa"vaﬁ &.‘1.')(,55 Ao &rgan
3 mm eowd, QD4 Doy

Options :

1.« 0.2 mm
> % 0.4 mm
3 % 0.3 mm

4. % 0.1 mm

Question Number : 106 Question Id : 8135612666 Display Question Number : Yes Is Question
Mandatory : No

An infinite line charge produces a field of 18 % 10° N.C ™%, at a distance of 4 em. What is the

linear charge density?

8 008 Byr DANTDIAW 4 om (POA ¢ 18 X 10°N.C Egrd) $Bhocior. Bt
3% Fold dodd?

Options:
| w 1BuC.m™

5 % duC.m™t

3 v dHC. m 1
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4 % 10 uC. m—t

Question Number : 107 Question Id : 8135612667 Display Question Number : Yes Is Question
Mandatory : No

The variation of electric potential with distance froma (volt) A
fixed point 1s shown m the figure. What 1s the value of 6

electric fieldatx =2m? 4 /

DS THIAHE 28 6 Dockdad) Aol PG )
ol @

Arabd HLANS’ BroTd. x =2m 3¢ :Jméei P
gdan A, Deosd Jod? 012 3  x(m

—

Options :

1.¢ 0

6
2. % 2

r—'-lc\

I:..o|c:~.

Question Number : 108 Question Id : 8135612668 Display Question Number : Yes Is Question
Mandatory : No
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A capacitor of capacitance 4 uF is charged to a potential of 100 V. It 1s then disconnected from
the battery and connected in parallel with another capacitor C,. If their common potential is 40

volts. then the value of C; 1s
4uF §$‘§3e35:] gDAD 28 306 100V f}“ﬂ.go:bﬁ £ 897840 BohudHb. dhaTd ©d

wﬂéeJB Aod, Sofohtd, C; 83 TG 3ratd L DATBEANT SLdLEIR. T g,
&6 TEADS 40V wand, £, Jewsd

Options :
1 % ZUMF

5 % 3uF
3 % 2 UF

4 & 6 uF

Question Number : 109 Question Id : 8135612669 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): As soon as a source of emf is connected across a conductor. a current
immediately starts flowing through it.
Reason (R): Drift speed of the electron 1s so large that electron travel from one end of the

conductor to the other end almost instantaneously.

DR (A): DAAETYOE w00 BISD) 28 TFED) §923% Dobd TS’ Desd
DT AD FoBAD,

560 (R): Jugve @,gg Sridw Tr I8 D. Tergane W D6 Mol Bokd DIGLH
LERW avg:\;w Hairddaw.

Options :

1. %
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Both A and R are true and R is a correct explanation for A
A 0830 R Godior DBAHAD. 08030 R 938 A § 2000 DD

Both A and R are true but R 1s not a correct explanation for A
A 08030 R Gottr 8GO, SHR 038 A & ROCDD D56 STE

A is ttue. R 1s false

5 v ARDBELIB, 5 R 26 5o

A 15 false. R 1s e
A Sodcin R RBGHAD 579

Question Number : 110 Question Id : 8135612670 Display Question Number : Yes Is Question
Mandatory : No

Two galvanometers A and B require 3 m4 and 5 mA respectively to produce same deflection

of *I,’ divisions. Then.

" Qo) s 9560 SdAeSTIS Botd mvsmb.)eags: Sdonre 3 mA Sobosw 5mA
B30, VY A Dbk B o hJc;STS Nooan

Options :
A 15 more sensitive than B

B s;r'l A D&'.}b.;ﬁ ‘m:}lejnnn“ GotLod
1.+

B 15 more sensitive than A

A 5.:!“;1 B &JS}E,;& ‘m:}lé;hnrr Eotod
2. %

A and B are equally sensitive

3 % A 20bacdn B oty “ﬂ}.ﬂlej;.‘ln
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. A i}
sensitiveness of B 1s ? times that of 4

5
B ‘A}J.‘!}ié@_gsﬁm A Saﬂl — Bt SotLiod
4, % 3 °

Question Number : 111 Question Id : 8135612671 Display Question Number : Yes Is Question

Mandatory : No

The rectangular coil of area A 1s in a field B. Find the torque about the :
Z—axis when the coil lies in the position shown and carries a current L ——
A DT 8RR 2,8 BF BSABIT0Y BricY B 80 o) ol A
Z3308° GodtAd. HLSVES” Wrad gv;}amﬁ“ GotieCd B B

. — i + ¥
w08 ol T 0k DS DI, Z 8530 DO &6 Jods? )
Options :

IAB in negative Z—axis
Z 9832 ;5.:3 IAB amrre:&é_s;hn

IAB n positive Z—axis
Z 8000 56 IAB Gerd san

21IAB in positive Z—axis
Z a0 26 2IAB derd) s

2IAB in negative Z—axis
Z 022500 26 ZIAB 2wrd) 200

Question Number : 112 Question Id : 8135612672 Display Question Number : Yes Is Question

Mandatory : No
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The earth’s magnetic field at a certam place has a Lorizontal component 0.3 G and the total
strength 0.5 G. The angle of dip 15

DG 0B3aWE" 2 abd) o8 Z8An ding) 482 HredTosaw 0.3 G Sbakn Awgsw
2650 0.5 6 wond s Sndn

Options :

Tan™1 (i)
1, ® 4

Sin—! (i)
2. ® A

Tan™? (i)
3. ¢ 3

. Sin ™! (%)

4.

Question Number : 113 Question Id : 8135612673 Display Question Number
Mandatory : No

A flexible wire bent m the form of a circle 15

placed m a uniform magnetic field. such that the . ;
field is perpendicular to the plane of the coil. The f
radius of the coil changes as shown. The graph of a . i
magnitude of induced emf in the coil 15 p | ;
represented by ' :

: ’ 0 1 : 2 b

35756 8 o) dr08'S Sosdd us &

T B0 3568 BADF) 00 ETIS VoLl GocINL GodtGIB. S the) avs)
m&éﬂgm Do PR ArcdR) 8. eand 288 err DBATBR & S0 A D
Ardied?
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Options:

) 1 2 X
1. % L
[y
w1
a ! 2 X
2.v ‘
,l,.!'
&
a i 2 ¥
3 % t——*
1
Y
J|'
el
0 1 b ¥
4, % ‘ ’

Question Number : 114 Question Id : 8135612674 Display Question Number : Yes Is Question
Mandatory : No
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An 1deal solenoid has 1000 tumns per meter and 8 cm radius. The current in it varies at a uniform
rate of 0.02 A.s7*. A circular coil of radius 2 cm 15 placed inside the solenoid such that ifs axis
coineides with that of the solenoid. Find the mduced electric field at a point on the circumference of

the coil and that at a point outside the solenotd at a distance of 12.8 cm from its axis.

w8 6036 TOTOE B om (60 Hibaw D% 1000 0w £9h 63) 6. o' QD
D 0.02 4.571 DS dewsd rddoR) 8. Zem J’éa"gén sdA% a8 3daw TdTrand
600 DFSODINTT Gotstal 38, Land, & 2 DBAD 8 Do) 36 S8ty TTowé
0D 4500 00 12.8 cm GPEAS’ &9) w8 Do 36 268 oS Fddwes

Options :

| 8T X107 V.m™t & 2mx 1077 V.m™

, % X107 Vom™ & 5Smx 1077 V.m™*

_— Gr X107 V.m™ & 2mx1077 v.m1

4% BTX107F Vom™ & 28rx 1077 V.m™

Question Number : 115 Question Id : 8135612675 Display Question Number : Yes Is Question
Mandatory : No

dde
Dimensions of £, g e same as that of (symbols have their usual meanings)

d
€ % a08), abdown B8 RATDHN? (doen T dws) oo eﬂgaﬁné‘)

Options:

Potential
T
1. % -
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Current

5 o 3@5&

Charge
3 % BOBDW

Capacitance

E.:.‘f“imﬁ:}

4. %

Question Number : 116 Question Id : 8135612676 Display Question Number : Yes Is Question
Mandatory : No

A radio transmitter operates at a frequency 880 kHz and a power of 10 kIW. What is the number

of photons emitted per second?

w8 Be.air O 880 kHz Jrapdidw Sodakw 10 kW 3":“?,,33” 3¢ HABAHD) &.
RES) GLrEA Jeraw o[ Jod?

Options :

| % 1.50 x 10%°

5 % 1.60 x 103

3 v L72% 107

4 % 2:80 % 10%

Question Number : 117 Question Id : 8135612677 Display Question Number : Yes Is Question
Mandatory : No
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Rutherford’s experiments on scattering of u-particles proved that:
8656 D6 Sere HOFDR HDATASL & Sod B EFDoLHA?

Options :
Atom is mostly emipty

| o D0ITERRD TR 879 DBFAD

Positive charge 1s uniformly distributed in the atom
BT DB DOATEVNG” V868 DG Bod EocoAD

Number of positive charges is equal to the number of negative charges
SR 2VEF LT AL DATDAW

Atoms contain electrons
DOATENDEN DUT VA SHA G0

Question Number : 118 Question Id : 8135612678 Display Question Number : Yes Is Question
Mandatory : No

The binding energy per nucleon of SLf? and ,H e nuclei are 5.60 MeV and 7.06 MeV.
respectively. Then, in the nuclear reaction ,Li T+ N e A et + A e* + Q. the value of Q.
the energy released. is

3'Li? 0o A e SogTruth) a.;ﬁab m’ééoiré ) (R LotRBN SEM 5.60 Mel odatn
7.06 MeV 08, & Sob Sods ::5%956 AT 33 ( dodd?

LiT+ H —— He*+ He'+(
Options :
1 % 19.6 MeV

, % —2.4 MeV
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3 % 84 MeV

4w 17.3 MeV

Question Number : 119 Question Id : 8135612679 Display Question Number : Yes Is Question
Mandatory : No

Figure shows a half-wave rectifier with resistive

load R; . which 1s far greater than the diode’s . [}I
forward resistance, If the value of capacitance is | |
considerably large. then the D.C. voltage across 1(.] Voo ",
R, s nlns - L
.
e, |

200 26 89 3o’ 2568) 08, 20 g

R, ¢oir& -:;;Efasém: AW Sol) Grer J8YD.
SINOD AL %Y, ews §8A &ots
R, DB6dw Boc> S0 206y D.CSGE

Options :
1. % =10V

s

5V

4« =28V

Question Number : 120 Question Id : 8135612680 Display Question Number : Yes Is Question
Mandatory : No
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A smusoidal voltage amplitude modulates another sinusoidal voltage of amplitude 2 kV to

result in two side bands. each of amplitude 200 V. Find the modulation index.

2 kV SG& 0% 20D $DAD 28 D Bdordn BAS RS JTE Sodd HOWS
36oind SrdFHD Babuddd. od SV 2 kV SP& 8o Rdodper 200V
go D8RS S9N Tocd Hiey DBES, AraXTRS e Jod?

Options :
1.« 0.2
> = 0.3
3 % 0.4
4. % 0.5

Chemistry
Section Id : 81356158
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 8135612681 Display Question Number : Yes Is Question
Mandatory : No
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If the uncertainties in position & momentum are equal, the uncertainty in the velocity is

Qé&;ﬁﬁs&n 000l .g'é);fm ng:omé.)eﬁ“ (e w:)-?ae:bejsan RArH000S, s’ bﬁ)ﬁ
@D%&@@Sm

Options:

h
1. NI

h
2. % ol

1 M
3 @ 2my IT

1 h
4 % 2mi ) 211

Question Number : 122 Question Id : 8135612682 Display Question Number : Yes Is Question
Mandatory : No

The number of waves made by a Bohr electron in one complete revolution in its 4 orbit is
43 85y &' (0 &6 JUTN 0Ig). 2,8 QY HBFNRING” Bhdy Sdorrv o3 Dod?

Options :

1.% 1

2. % 2
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4.v 4

Question Number : 123 Question Id : 8135612683 Display Question Number : Yes Is Question
Mandatory : No

The region of electromagnetic spectrum and the energy of photon. respectively. of the line
obtained at 1.4 X 10°m " in the atomic spectrun of hydrogen are
[h=6.626 X107 I.s]

TERD 360008 14X 10° m™" 36 D6yG 8 A0 088 HhaodS Forrdd
Doty Sdad D Ferd 389 $A gocoy. [h = 6.626 X 107 1.5]
Options :

Visible. 13.84 x 1077 ]
&yFess. 13.84 x 10777
3 N

Visible. 27.72 x 10°2°J

: —-20
5 sﬁaﬁrﬁd‘ 277210 7]

U.V region. 16.9 x 1072% 7

5 % BEVS IS Fodo, 169X 107" ]

Infrared region. 14.2 X 107 °J

, DO Drotho. 14.2 X 1079 ]

Question Number : 124 Question Id : 8135612684 Display Question Number : Yes Is Question
Mandatory : No
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Match the following:
Column-I Column-II
(a) F (1)  Maximum ionization enthalpy
(b) I (1) Maximum atomic radius
(c) He (1) Maximum electro negativity
(d) Cs (iv) Maximum negative electron gain enthalpy

Sof TO RADETAN:

&695.)—1 §ﬁ oo-I1

(@) F (i) 6 eabAscn dozdy
L) Cl (if) A8z HESrew m@%‘g;ﬁn
(¢) He (1) rsequ meag}mvgm“aém
(d) Cs (1v) 0% JOS°S Tary Dotp"b;}

Options :
1 % (a—iv),(b—1iii),(c—i),(d—ii)

2 % (a—iii),(b—1i),(e—iv),(d—ii)

3 ¢ (a—iii),(b—iv),(e—1i),(d—ii)

4 % (a—i),(b—iv),(e—iii), (d—ii)

Question Number : 125 Question Id : 8135612685 Display Question Number : Yes Is Question
Mandatory : No

An element of atoniic number 118 would be a/an

118 HESseed ;1::::3;::5 S8 SIS0
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Options:

Alkali Metal
=06 &5 s

Lanthanide
roBIE

Noble gas

3 @ €8) )R TO0Y)

Transition element

4 % D0I0R0 Do

Question Number : 126 Question Id : 8135612686 Display Question Number : Yes Is Question

Mandatory : No

[dentify the correct order with respect to first ionization energies of the given elements:

[l Dbsmcia 2PV VG HOrRRAND Dotp“b:)a 20 29008 S030

Options :
1_¢C}BE}B}L1'

> %« C > B > Be > Li

3 xBe>C>B > Li

4 % Li > Be > B > C

Question Number : 127 Question Id : 8135612687 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

In which of the following substances will hydrogen bond be strongest?

$0d T°S° GyEDVD TERD Liofren Lh DB?

Options :
1. % HCI

, » H0
3 % HI

4w H2S

Question Number : 128 Question Id : 8135612688 Display Question Number : Yes Is Question
Mandatory : No

In XeF,. XeF; and XeF. the number of lone pairs of electrons on the central atom. respectively are

XeF,. XeF, 8030 XeF; 08 Sog HOATR0HD (0 2,000 JUS™D 2ot Roa)] HERIT

Options :
1.% 2, 3, 1

5 %331

Question Number : 129 Question Id : 8135612689 Display Question Number : Yes Is Question
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Mandatory : No

If a molecule has trigonal bipyramidal shape. the hybrdization 1s
28 e’ G ab B(DONDE 858 Goll T cINS), VosOSCERID

Options :

1. % 3P3
2. % dsp’

3. v dsp’

4. % d*sp®

Question Number : 130 Question Id : 8135612690 Display Question Number : Yes Is Question
Mandatory : No

Calculate the density of H> gas at 230 °C and 6 atm pressure.
230 °C 20dasw 6 atm »&do D6 Hy Sraing) aiws), Fotd dodh?

Options :
1 % 0.641 g.ml™!

, » 0293 g.ml™1

5 x 0.082 g. ml™1t

4 % 0.010 g.ml™
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Question Number : 131 Question Id : 8135612691 Display Question Number : Yes Is Question

Mandatory : No

An evacuated glass vessel weighs 50 g when empty. 144 g when filled with a liquid of density
0.47 g.L™" and 50.5 g when filled with an ideal gas at 760 mm Hg at 300K Then find the

molar mass of the ideal gas.

760 mm Hg Hédaw, 300K © 36 ws Y Babe me ¢ ardo 50 g. 06 & T

047 0.1 7" Jodsd o 28 38 QoY@ &R erdo 144 g. 253 & Fd 28
escadga**omaﬁ Do?}é‘@hm 50.5 g &rdo 59A &) & AR, & 6560, Tod0R) S,
Arerd g:.w%

Options:
1. « 61.57

, « 13098

5 % 85.94

4 % 125.75

Question Number : 132 Question Id : 8135612692 Display Question Number : Yes Is Question
Mandatory : No

Find the normality of sodmm bicarbonate solution containing 8.4 g of NaHC 05 i1 250 ml ?

(Equivalent weight of NaHCO; =84 g.eq ™)

250 ml Jéiao BBy grdmedS” 8.4 g. NaHC0; $BA Gotd & mrdmo 07 B dod?
(NaHC0; dovgerdo = 84 g.eqt)

Options :
1. % 0.1N
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5 v 04N

4, % &N

Question Number : 133 Question Id : 8135612693 Display Question Number : Yes Is Question
Mandatory : No

A sample of drinking water was found to be contamnated with CCl,. The level of
contamination was 8.5 ppm by mass. (Molecular mass of €€l = 153.18 g.mol™)
(1) Calculate the contamination leve] in mass percent.
(11) Calculate the contanunation level in molality

28 dvrTS grord) Sorr 8.5 ppm. CCly 2VDorr &) & ADJotseldB.
(CCly wmogdEr? = 153.18 g. mol™1)

(i) B33 T8 &1 S0Bdo Deda T8) ot

(if) &5 22080 Ve ArerdRe’ 58) o

Options :

;% (085% ; (i)85x 107 m

5 » 85x107% ; (i) 055 x 10™* m
3 % (1)85% ; (i)85x107*m

4 % (0)85% ; (i) 55m

Question Number : 134 Question Id : 8135612694 Display Question Number : Yes Is Question
Mandatory : No
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A certain reaction. for which the enthalpy change 1s 24.85 kJ. is at equilibrium at 82 °C. Find
the value of AS for this reaction.

82°C 365 u$ DBY 6] HEDIES" &) 6. 0K & () Dorrdy 260y 24.85 k.
o @8 @
L0, &3 xzﬁd5 aiog), AS QR0

Options :
1. % 55 LK t.mol™?

, 60 LK™t mol™!
3 % 68.5 LK t.mol™t

4 70 L. K. mol™?

Question Number : 135 Question Id : 8135612695 Display Question Number : Yes Is Question
Mandatory : No

If the enthalpy of combustion of CHy and CH;0H are ‘—x" and ‘y’ respectively. then find the

A A 1
enthalpy of the reaction CH, + = 0, —— CH,0H

CHy 2080k CH; 0 v &3S & aoc;r@;jv QenSL0 SHAM™ ‘—x" dodn 'y wand,
1
CHy + = 0 — CH;0H DotrBy 37y T8 ots0?

Options :
1.8 TXTY

> 8 X—Y¥
3.@?_(1-"}"]

4. Xty
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Question Number : 136 Question Id : 8135612696 Display Question Number : Yes Is Question
Mandatory : No

Consider the following reactions in which all the reactants and products are in the gaseous state

2PQ 2 P,+0Q, K =25x%10°
1 <
PQ+—R, = PQR K;=5X10 :

1 1 1
Then the value of K; for the equilibrium 5 P+ 73 @, + 5 R, = PQR equals

SairadsTe, GOV W e.ab:l mm@a’gﬁ"’ fie) S0 drae B HBeietsed.
2PQ 2 P, +0, Kk =25x%10°

1 o
PQ+—R, 2 PQR K, =5x10"

1 1 1

Options :
1 % 25x107°

5 % 5X107°
3 % 5X10°°

4w 1X107°

Question Number : 137 Question Id : 8135612697 Display Question Number : Yes Is Question
Mandatory : No
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Given the pK, of a weak acid HA as 4.60 and pK), of a weak base BOH as 4.80. then find the
pH of 0.1 M solution of the salt BA. formed from HA4 and BOH.

HA 03 08 0oird &0 A8, pK; Dewsd 4.60 20Ba0 BOH 53 w8 wwersd 3%
aiwg), pkj Jeos 4.80 wawd. HA 2080in BOH © Aved 200 BA &3 vt avg),
0.1 M grdmo awg), pH Dend

Options:
1 = 7.10

5 v 6.90
3 % 4.70

4 % 9.40

Question Number : 138 Question Id : 8135612698 Display Question Number : Yes Is Question
Mandatory : No

The number of co-ordmation bonded water molecules associated with CuS0,.5H,0 1s
CuS0,.5H,0 &° 03050 PFRADH woded Liofodtd A8 wRHY Pos]

Options :
1.% 0

3.¢v 4
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Question Number : 139 Question Id : 8135612699 Display Question Number : Yes Is Question
Mandatory : No

A sodmm salt of an unknown anion when treated with MgCl, gave a white precipitate only
upon boiling. Identify the anion.

6 3Dad wRairS o Fdavo vserd) MgCl, § o) 2600, 38500 298AD8Y
AT w8 BYY) BIETR) 61508, & BHITD

Options:

2_
1 % 50,

, % CO

3 % NO,

4 » HCO;

Question Number : 140 Question Id : 8135612700 Display Question Number : Yes Is Question
Mandatory : No

Identity the incorrect statement in case of diborane structure
e’ B £ Dotiodot) B2 RATETEA0D (Botded

Options :

There are 2 bridging H atoms m diborane
eS8 &° T68 E2D w SV

The H atoms are not in the same plane m diborane

- DOEATEDDHD 2.8 DS T
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B atom is SP® hybridized in diborane

5« GO8D & SP¥ DOAT0D) 30808650 Bod Gotol

All B-H bonds 1n diborane are similar

4o £e5°03 &° ) B-H togren 2,8 DB oo

Question Number : 141 Question Id : 8135612701 Display Question Number : Yes Is Question
Mandatory : No

Which element among the following can react with steam?

o8& Awresteds’ HOE D8 oley Todd) suresAn DA?

Options:

1.2 C
2 % Si

3%66‘

4.v Sn

Question Number : 142 Question Id : 8135612702 Display Question Number : Yes Is Question
Mandatory : No

Which among the following oxides of nitrogen is a potent greenhouse gas?
So8 RIER PH'RS g 56 08 VI ST TOY D67

Options :
1.v N20
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« NO
NO,

N, 05

Question Number : 143 Question Id : 8135612703 Display Question Number : Yes Is Question
Mandatory : No

(1) The IUPAC name of acetone 1s
(1) The corresponding functional 1somer of acetone is

(1) 'S gy, TUPAC Trdvo 26?
(1) DE°S CENE), DACH VAAPT® FreFEAD A7

Options :
(1) Secondary propanone; (1) Propaneoic acid

. (1) 980cd THIR: (i) FHSans o

(1) Tertiary propanone: (ii) Propanol

, x (1) ©8a0d TOII: (i) TOSS

(1) Butanone: (11) Butanol

3 % (1) &DSQJS.& (ii) egerTres

(1) Propanone: (i1) Propanal

4w @ FHI3: (it) TFdHTS

Question Number : 144 Question Id : 8135612704 Display Question Number : Yes Is Question
Mandatory : No
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During estimation of N present i an orgonic compound by Kjeldahl's method. the ammonia

evolved from 0.5¢ of the compound i Kjeldahl's estimation of N, neutralized 10mL of
IM H,50,. The % of N m the compound 15

Eeg'ﬁ DTS’ w8 Sdaé "f\}ﬁ}é%“:ﬁm 59 PR A worsT 50‘1).3&)5'.3_')361) 0.5g Sdaé
ﬁﬁ)&%"ém & (o° QG0N earair 10mL 1M H,50, & 93&;}%550&%&. &
ﬁ)ﬁ)&#?\‘)m ' N ardTdan

Options :

, x 48%

Question Number : 145 Question Id : 8135612705 Display Question Number : Yes Is Question
Mandatory : No

In CCP arrangement. the total number of octahedral voids are
CCP 200856 930D o) 20SA0 Do8dy

Options:
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Question Number : 146 Question Id : 8135612706 Display Question Number : Yes Is Question
Mandatory : No

The vapor pressure of a dilute solution of glucose 1s 750 mm of mercury at 373 K. The mole
fraction of the solute 15

373K ag 2,¢ 20 Qr%"a% el PabY) mjinc:aﬁan 750 mm :‘.ud.)&&. TR0 0
Fagla iy

Options :
1

1. % 10

2 ® 7.6

Question Number : 147 Question Id : 8135612707 Display Question Number : Yes Is Question
Mandatory : No

It the weight ratio of non-electrolyte solutes m two isotonic solutions of 4 and B 1s 2 : 3. then
find the ratio of their molecular weights,
A 208010 B 630 s@{0(E08 o (v Trared” oY eTaa 2 ¢ 3 Lok
& Doty DVEPS Trarruond T8 Ty NG
Options :
1. [Ty 2 : 3
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2.$3 3:2
3.33 3:4'

4. % 4:3

Question Number : 148 Question Id : 8135612708 Display Question Number : Yes Is Question
Mandatory : No

Which among the following correctly represents the reducing strength of given species in
aqueous medium?

S8 dowsd, 20 TIETUd D wrdow LSt &mgﬂ 395 Suan

Options:

1w Cu®t < Pb*T < Zn®t < AP
5> % APT < zZn®" < Pb*T < cu®T
Pb*" < cu®" < APT < Zn™”

3. ®

4. % In*t < pp*t < cu?t < AP

Question Number : 149 Question Id : 8135612709 Display Question Number : Yes Is Question
Mandatory : No
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The electrical resistance of a column of 0.05 M NaOH solution of diameter 1em and length
S0cm 15 6.5 X 10% ohm. Its molar conductivity will be

lem 0, S0em TES) do 0.03 M NaOH @radessn Dmﬂ&‘gm 6.5 x 10° ohm..
T b a‘f.'rspejsan

Options :
1 % 2295 S em? mol ™t

5 » 196§ cm? mol™?

3 % 149 5§ em?® mol™

4 280 S em? mol™?

Question Number : 150 Question Id : 8135612710 Display Question Number : Yes Is Question
Mandatory : No

For the reaction 2 A + B, —— 2 (. the following data 1s provided. Find the overall order of thus
reaction,

2A+B; — 2C 0 56(% $08 5066 Doren mRAD. $6] gD §arosin

Experiment ; Rate Bw
aairesy | (A (mol.L7*) | [B] (mol.L™)
® (mol.I7Ys7Y)

l 0.5 0.5 1%107*
2 0.5 1.0 2%107*
3 1.0 1.0 2%107*
Options:
1.% 2
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Question Number : 151 Question Id : 8135612711 Display Question Number : Yes Is Question
Mandatory : No

Which of the following Absorption-Temperature graphs represent the variation of physical
adsorption with temperature?

808 Bar QY HErwd’ DB THE AT N, egﬁg@& AP Dototr) ddaDSeN?

Options :
g;; ET _a""‘f/
D 3 A~
0l -~
e Z
B |
I n:mpm_'r.:l e
1. % e
£1)\
S22 N
1 e
L] T
b *
Femperatune
aifra
2. ¢ &0
3. %
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ThE enFnnan
Absanion
P

{ emperniure

afs

G AT aman
A hsnmption

| dinperatire

&g

Question Number : 152 Question Id : 8135612712 Display Question Number : Yes Is Question
Mandatory : No

The oxide formed by 1odine which 1s used for the estunation of carbon monoxide 1s
0y APTEE A0S, DBFFATELS WoB Y, GG BAFES aWS), BBE

Options :

. w 104

2. v 1205

3 % 1203

4. % llr2 '9?

Question Number : 153 Question Id : 8135612713 Display Question Number : Yes Is Question

AP EAPCET 2021



AP EAPCET 2021

Mandatory : No

Tonization energy of mfrogen is more than that of oxygen because of
2D g, LAHASON 3, B8RS NE), 685,500 38 Sofd Iy, TCMW

Options :

Higher penetrating effect

- tS“rﬁJt}s:::)ﬁﬁ.;ﬁj R(ETDE0 BSIT Godito DD

Smaller size of N-atom
DB DOATEDD D) B STHEI JVD

Greater attraction of electrons by the nucleus

SoBAWS0 VST 0 DT SBoHeICiiInN DV
3. ® =2

The extra stability of half filled p-orbital

4 R Dot p-ﬁaé)ﬂ“@b SV S E?de‘_bs;kn Tott) SRV

Question Number : 154 Question Id : 8135612714 Display Question Number : Yes Is Question
Mandatory : No

Which oxide of Nitrogen. among the following. is a colored gas?
DB g, BHE VG A Gofd v TV

Options :

1. % NEUS

> NO,

3. % NO
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4. % N20

Question Number : 155 Question Id : 8135612715 Display Question Number : Yes Is Question
Mandatory : No

Co is 27™ element in periodic table. The Electronic configuration and Magnetic moment of its
dipositive 1on respectively, are

Co 8363 HESE’ 27 5 Jarese. o BIETHE wAIrd dNE), S DTfdo Lok

O 08 ZPVSo SEAIT

Options :
| w [Ar]13d”, V24B.M

, % [Ar]3d7, V15 B.M

5 v [Ar] 3d74s?, V15 B. M

4w [Ar]3d74s?, VBB.M

Question Number : 156 Question Id : 8135612716 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of solutions can be distinguished by Fehling selution?
BrDD) D Trdrre 208 dandol Tronin & Mded B HELrVIN?

Options :
Glucose and Fructose

- Gr&s 2odoin PES
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Fructose and Sucrose
- DEE 208030 ES

Fructose and Mannose

- HEE 2boid ArSE

Lactose and Maltosze

. wgé Soboin Srg'a

Question Number : 157 Question Id : 8135612717 Display Question Number : Yes Is Question
Mandatory : No

During the process of preparation of CHCl;, which among the following statements are true?
(1)  Bleaching powder on reaction with H,0 gives Cl,.
(11) Cl, reacts with ethanol and produces acetic acid.
(1) Chloral is formed from the reaction of excess Cl, with acetaldehyde.
(v) Ca(OH), cannot hydrolyze chloral to give CHCI,

CHCl; S50 5050 t56{8 RotioBotd 9 Diyosren
() B Do Jeb o[ S0 §65 ad\d e
i) Cly, 2SS & 6] Job D8 5303w d\chw
(ili) 68§60 & NP & 6 wo| Tod ETE Aoy
(iv) CHCly D6ycots dewrr Ca(0H),, S8 2 20 Hgiman Sovge

Options :

(i) & (ii) only
| x (D) & (i) 3a®

(ii) & (iii) only
5 s (i) & (i) 2083

3. %
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(iii) & (iv) only
(iii) & (iv) Sorddo

(i) & (iii) only
4. (1) & (iii) Sorad

Question Number : 158 Question Id : 8135612718 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct structure of methyl hemiacetal of benzaldehyde from the following,

Bozrre g, DFS TFIEFES o), o0

Options :
OCHs
CeHs—CHZ
. OCHs;
CHO
CeHs—CH L
. OCH,
OH
CoHs—CH]
L OCH,
_OCH,
CeHs—CH=C_ |
. OCH,

Question Number : 159 Question Id : 8135612719 Display Question Number : Yes Is Question
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Mandatory : No

Which among the following 1s most acidic?
Sob TES” DO [0S VRV B VI FIAD

Options :
H
® i
: |
% 0,
OH
NO,
H
Hy

0

0

N
G?N@NUZ

1.
2.

3.¢
D:
4. % 2

Question Number : 160 Question Id : 8135612720 Display Question Number : Yes Is Question
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Mandatory : No

Benzoic acid gives benzene on being heated with ‘X and phenol gives benzene on being
heated with ‘Y. Then. X and ¥ respectively are:

Hozrond AN X & 56 3 Hodd SR00d. DTS D ¥V & G B Bodd D610, X
20805 ¥ Sdvarr
Options:

Soda-lime and Cu
Je= gD Sodain Cu

Zn-dust and Soda-lime
2 % 208 TE S0doiw Vo 30

Zn-dust and NaOH
3 % ®o§ J& 2605w NaOH

Soda-lime and Zn-dust

4 v V& T Bosw 2eS T
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